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Question Shuffling Allowed : Yes

Question Number (;n Question Id: 6154753436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Questi
Correct Marks : 2 Wrong

Marks : O

Option : No Option Orientation : Vertical

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) -L-'Eé.;ég"%@éd&nt? ideas and contributions
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Options :

61547513401, 1
61547512402 2
£1547512402. 2
61547512404, 4

Question Number : 1 Question Id : 6154753436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T AT e 29 A 2l O feftad 8 8 vga e smEen a2

(1)  Toem st =1 =afem =1 % w0 O Ty g =i oo
(2)  Torea g fanAEg A1 UBRAT ST W9 I8 S
(3) AT 9T § BET F Ofad 5 S

(4) ST & 9= 3 3795 e = 3w fF a

Options : _fr |
£1547512401. 1

E1547513402. 2
61547513403, 3
61547513404, 4
¢ f

Question Number : 2 Question Id : 6154753437 Qu.§ti<f1 Type : MCQ Opti'on Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientati.eniz Veertical

Correct Marks : 2 Wrong Marks : 0

The basic requirements for organizing teaching at reflective level deal with

(1) Svstematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their zolutions by students

(3) Translating and interpreting the facts by the students

(4) Giving concrete facts and action sequences by the teacher

Options : ; |

BE1547513405. 1
61547513406, 2
61547513407, 3
61547513408, 4

Question Number : 2 Question Id : 6154753437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fomefl foa =2 o foem % s1Eres 2g sufae e sTavEFan HeEtie 2

(1) 13T gR1 A% 91 A1 i =aad 341 ATHES Tid O

(2)  TEEHT 991 395 FEEE 5 9§ 2 F S0 A7 Jonadt Smea § 9eaT 99 A 6

(3) Bl NI 9991 I TE 0 91 T4 35 =Are R 99 °

(4)  To1T% 3 2@ A% F T Ud 306 FA-gE FIHE 9

Options : a
51547513405, 1
61547513406, 2
61547513407, =
61547512408 4

L]
©

Question Number : 3 Question Id : 6154753438 Question Type : MCQ Opth[\ Shuffllrig No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical {

Correct Marks : 2 Wrong Marks : 0 / al

Identify the factors affecting teaching related to positive learning environment in an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open discussions within the classroom and the institution as

such
(1) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v} Avwvailability of teacher and his'her guidance
Choose the correct answer from the options given below :
(1) (1) and (111)
(2) {(11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options :

61547513409, 1
61547512410 2
61547513411, =
61547513412 4
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Question Number : 3 Question Id : 6154753438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= & T g W 39 FEA] S TEAE i F Tl BE H SERAcE AT Tias 5 gag 1 e w6
qqTad Fd €

() T o A e o aeE T

(i) edT = WY-T1 T 1 =R ' w6 ug gl 991 g B

(i11)  BEN % 991 F I 24 & FE 0 B FHarE Eyr-ammi w S # A

(iv) T A9 Fa 4 ThAIcHs Jao 1 9i-aF 390 41 9E1
(v)  T51aTE 9 30 OEEsd 1 ST
4= fou e fawe 0 0 9 39 =T w1
(1) (@) 37 (iid)
(2) (i) W (iid)
(3 (v 3T (v
(4) (i1) 3 (iv)
Options : - ;
51547513409, 1
61547512410 2
61547512411,
61547513412 4
L
Question Number : 4 Question Id i 6154753439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

/ “’ \

 —
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In the following list. which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(vl Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (11) and (111)
(3) (1) and (1v)
(4) (111) and (v)

Options : I j“'
615475124121

E1547513414. 2
51547513415 3

51547513416, 4
T

Question Number : 4 Question Id : 6154753439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Origntation : Vertical

Correct Marks : 2 Wrong Marks : 0 { -
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Freferfa = § @ = stfermai - o A gaiua 27

(i) T (TE g U AT UUH)
(i) P HETIE IR

(i) Uy Hey

(iv) W

(v) i | (a9 HYH)

Jr= feu o fasredl § O Ul IO %1 =59 i

(1) (1) 3 (iid)
(2) (i) 3 (iid)
(3) (i) 3 (iv)

(4) (i) ¥ (v)

Options : a '
15475124121
1547512414 2
51547512415 =
61547513416 4

oy

Question Number : 5 Question Id : 6154{7534 0. Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the following two sets. set I mentions the evaluation svstem while set II gives themwr

descriptive features. Match the two sets

(a)

(b)
{c)
(d)

Set I

(Evaluation system)

Formative evaluation

Summative evaluation

Norm-referenced testing

Criteron-referenced testing

(1)

{11)
(111)
(1v)

()

Set IT
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifyving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(a)-(1v). (b)-(v). (e)-(1). (d)-(11)
(a)-(1). (b)-(11). (e)}-(111). (d)-(1v)

{a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(a)-(11). (b)-(111). {c)-(¥). (d)-(1v)

615475134171
615475134158, 2
61547513419, 3
61547513420, 4

—

T

\/

Question Number : 5 Question Id : 6154753440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 {
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A f2u 0 ZHT G2 § |, #el B gedid WOl 1 3gE B FeiE G210 8 3R avEE et w1
35 2| ZH T2 F ghfaa Fif

2.1 T2.11
(AT ST ) (AT T
(a) THHIITEHF geard () T % A BEi % e e
(b) THeATCHS GedTHA (i) AT F T T Aan
(c) HAFH-HzEd T (iil) BET I g9 H 9T 9=
(d) TrFy-weida giam (iv) Gam I 19w i w=e

(v)  AfeTH T T

F= fgu T fameal § @ I8 3R 1 =994 FHE0

(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(3) (a)-(11). (b)-(1v), (c)-(11). (d)-(1)
(4) (a)-(11). (b}-(111). (c)-(v). (d)-(1v)

Options : "_ ."'J
615475134171
1547512418 2
61547512419, 5
61547512420 4

Question Number : 6 Question Id : 6154753441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No OptioH{ Orierlrtation . Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. obhservation. conceptualizing. theorizing and deduced consequences

(3) Theorizing. deducing conseguences. testing, observing and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them

Options : -
61547513421, 1
61547512422 2
61547513423 =
61547513424 4

-

Question Number : 6 Question Id : 6154753441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fafefad § T i1 91 9% 39 ¥999H F1 98 =9 § 29 27

(1)  wggwon i, fogm o e, g8 9 wam
(2)  whtegwr, S, sggwen HEi, fagE A e g Heed
(3)  Toga Fuim, ffm e, ofige, 3 q2n sEgrn o
(4) 3@, Fagren Ham, TgE FEn, S SR 991 395 50 6 TG
Options :
61547513421 1
61547513422 2
61547513423 3
61547513424 4

F

[
Question Number : 7 Question Id : 6154753442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical 4

Correct Marks : 2 Wrong Marks : 0 . .

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of thewr socic-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) (Gender (4) Socilo-economic background
Options : . — £

615475134251
61547513426, 2
E1547513427. 3
E15475134258. 4

oy

Question Number : 7 Question Id : 6154753442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optio Orieqtation : Vertical

Correct Marks : 2 Wrong Marks : Q
HHITF - AT GBGMH =+ a1 BEl 9297 el #1 dieds Iefed T B o & 99" #7321
Sg-AuE 7 o E=ds (aied) =2 = 931 21 91 g5l 27

(1) S STafed =i (2)  Tereqor gUITEA] i
(3 T (4) TN JEH =
Options : 'll

515475134251
B1547513426. 2
61547513427, 3
61547513425, 4

Question Number : 8 Question Id : 6154753443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal valhidity (2) Functional relationship
(3) External vahdity (4) Hypothetical construct
Options :

615475134291
E1547513420. 2
E1547513421. 3
B154751343%2. 4

[

Question Number : 8 Question Id : 6154753443 Question Type : MCQ Option Shuffling : No Display Qu$stiori Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 , ,/
wa TRt sy aremEa O 919 giomgn = g',:|;-9 I EF* W_ETHHTT’ (=TT =+ PF"E[ 2| Zdl) d+ TN TRAT AT
OF d1 92 Fed] &/ Fead 2

(1) AT dadl (2) TFEHE 949
(3) =@l g (4) TiFeTAHS fa=m
Options : I.r" . .'

E15475134259. 1
51547513420, 2
51547513421, 3
61547513432 4

-

« [

Question Number : 9 Question Id : 6154753444 %uestlbn Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientat n: Vertical

Correct Marks : 2 Wrong Marks : 0

In a thesis ‘Format and styles of referencing” have been inappropriately followed. this 1s an
example of

(1) Technical lapze on the part of researcher

(2) Unethical practice of the researcher

(3 Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options : :

E1547513433. 1
B1547513424. 2
51547513435 3
61547513436, 4

Question Number : 9 Question Id : 6154753444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= TRl =g 1 HEd * WY ud ST # syt aiih 3 ETeE 6 8 21 98 UF SRR
(1)  =igrefi =i 3R 9 20 TR g6

(2)  SeEreft % aAEE SIEEn =\

(3) =Y 9F Toigd | sienefi 7 s3emar =7

(4) =g 99 T | el 0 i AavE

Options :

61547513433, 1

61547513434, 2

61547513435 3
61547513436, 4

Question Number : 10 Question Id : 6154753445 Question Type : MCQ Option Shuffling : No DFpIay Question-Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university department plans to undertake a study wherein attitudes, values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment, Which types of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(111)  Descriptive method
(iv)  Ethnographic method
() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (1) and (111)
(3) (111) and (v) (4) (1) and (iv)
Options : '

61547513437 1

61547513438 2

61547513439 =

E1547512440 4

Question Number : 10~ Question Id ':r6154753445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No (fption Orientation : Vertical

Correct Marks : 2 Wrong Marks
i

\
h

F
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3l & Ferwi a9 oEl il AN, G a9 3R 99 R A F A A 2| 5E Hed | A
#1 F1 = ugiaat 39 g ?

(i)  WHEIEEE 9gd

(i)  =FF WATE Ugfd (g =E)

(1)  FUEHE 95

(iv) T Tgd

(v)  Ufdara g9gid

+= f2u o famedl § 3 35 A =999 I

(1) (1) 3R @) (2) (i) R (i)
(3)  (iil) ¥ (v) (4) (i) 3 Gv)
Options : {

61547513437, 1
61547512438 2
61547512429, 5
61547512440 4
F\/
Question Number : 11 Question Id : 6154753446 Question Type : MCQ tion Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 — /
Dynamics of good classroom communication involves :
(a) Indifference
(h) Motivation
(c) Being organised
(d) Exclusivity
(e) Participation
(f) Gendered views
Choose the correct option from the following :
(1) (a). (b) and (c) (Z) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (f)

Options : A |
1547512441, 1
1547512442 2
1547512442 2
1547512444 4

Question Number : 11 Question Id : 6154753446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ot =

Fe H of=e TN 6 ToATeHEa § gefad 2

(a)  3arEHEd
(b)y &R

()  Tfad 2T (3 SreEss)

(d) UFiaEal (TFTEFaE)

(e) ARfTERT
(f) GlUCRAEEaL

HEifigd § ¥ T8 [9&eT THT

(1) (@), (b) X (c) ) (b), (c) FN (d)
3 (), () I () @ (o). (e) AR (D)
Options : f'( | *I

615475134411
61547513442 2
61547513442 3
E1547513444. 4

=

Question Number : 12 Question Id : 6154753447~BQ?ésti0n Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientationi: Vertical

Correct Marks : 2 Wrong Marks : 0 -
Instructional communication in the distance education mode 1=

(1) unstructured (2) self-regulatory
(3) informal (4) structured and interactive
Options : 4 Ay

E1547513445. 1
E154751344E. 2
B1547513447. 3
515475134458, 4

\

Question Number : 12 Question Id : 6154753447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Or}tion : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT o1 GRRAT § SIS O Ei

(1) T 2y =-fatams
(3 (4) wRE ¥R ST
Options :

E154751 2486 race www.examrace.com



E154751344E. 2
61547513447, 3
515475134458, 4

Question Number : 13 Question Id : 6154753448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher tellz his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambizuous advice
(3) Potential threat (4) Positive reinforcement
Options : _T

61547513449 1
61547513450, 2
E1547513451. 3
E1547513452. 4
F L

Question Number : 13 Question Id : 6154753448 Question Type : M Optiop Shuffling :No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |
|

Correct Marks : 2 Wrong Marks : 0 4 i
TF 919 999 B ° Fedl € - A9 379 98 g ofd § a1 39 39 A 94 § 59 201 98
TT9Y 70T Thd Fa1 27

(1) T - (2) 398 HARE
(3) Ta=d 52 (4) TFIETF TEeH
Options : ___' A

51547513449 1
E1547512450 2
61547512451, 5
61547512452 4
4
Question Number= 14 Question Id ; 6154753449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No d’)tiom Orientation : Vertical

Correct Marks': 2 Wrong Marks : 0 '

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles

(b) Liberal use of adjectives
(c) Clarity

(d) Conclseness

(e) Correctness

(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (Z) (b). (c) and (d)
(3) (CExbraad (e) (4) (d). (e) and (D WWW.examrace.com



Options :

61547513453, 1
61547512454 2
£15475123455 =2
61547512456, 4

Question Number : 14 Question Id : 6154753449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

BT & TSt 51 % e 3wt g wmEe F foge 2

(a) AR W 9

(by  TaSIvI = IEEATHE WM
(c) TEAT

(d)  HleHar

(e) ﬂﬁ'ﬂ?ﬂT

I:f} 'uﬁ_” . x-ﬁ =

efaigd 4 4 @ 3% 96

(1)  (a). (b) 3F (c) (2)  (b). () 3 (d)

(3)  (e). (d) 3T (e) (4)  (d). (e) I ()
Options : e | ) :

E154751323452 1
L1547513454 2
L15475132455 =
L1547512456 4
LW

Question Number : 15 Question Id : 6154753450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No: Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :

Given below are two statements — One 1z labelled as Asszertion (A) and the other 1z labelled
as Reason (R) :

Assertion (A) ; Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3 (A) 15 true. but (R) 1= false

(4) (A) 1= false. but (R} 12 true

Options : Examrace WWWw.examrace.com



E1547513457. 1
61547513458, 2
51547513455, 3
61547513460, 4

Question Number : 15 Question Id : 6154753450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F=1 41 %2 o 7 B, TS990 O U i afeed (A) 3R & 9 (R) FE T2

ATTFH (A) O =1 F AGH-U5E % 0 el 9Hg SEER # JiEaied 98w 2l
T (R) : Ao § ol 99 {EEET 39 gt 2
Fr=fafiga 0 4 a1 awen 9

(1)  (A) 3R (R) ZH1 T8 2 9491 (R). (A) =1 Tl = 2|

(2)  (A) #R(R) 2 TE 2 A (R). (A) Fl B =01 T 2
(3) (A) TET 2, o (R) Teid 2l

(4)  (A)Ted g, ol (R) HE 2l

Options : = = £
15475124571
1547512458 2
15475124559 2
1547512460 4

Question Number : 16 Question Id : 6154753451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optio Orieqtation : Vertical

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 3:7. If 8 12 added to both the numbers. their ratic becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15. 35 (4) 24.56
Options : |

61547513461, 1
61547513462, 2
E1547513463. 3
E1547513464. 4

Question Number : 16 Question Id : 6154753451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2 GEA 3 : 7 % 3A9E § ) 33 1 241 g 1 8 g fom A g d 39 39 5 ;9 7 A 2l
iT H-I??Iiﬂf, ? :

(1) 12,28 (Z) 6,14
{3) 15 85 (4} 24, 56
Options :

61547513461 1

61547513462 2

61547513463 =

E1547512464 4

§

Question Number : 17 Question Id : 6154753452 Question Type : MCQ Option Shuffling : No Display Questioh Number : Yes
Single Line Question Option : No Option Orientation : Vertical ¥

Correct Marks : 2 Wrong Marks : 0 { r

The number X in the following series :

3.8.18,38. X ...1s

(1) 78 (2) 80
(3) 76 4) 74
Options : Vv

E1547513465. 1
61547513466, 2
G1547513467. 3
61547513468, 4

Question Number : 17 Question Id : 6154753452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optioh Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 { :

HEAeTigd SR a H X B -

3.8, 18, 38, X ..

(1) 8 (2) 80

(3) 76 (4) 74
Options : |

61547513465 1
61547513466, 2
E15475134E7. 3
E1547513468. 4

Question Number : 18 Question Id : 6154753453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If ‘SOLUTION 1s RSKTSHSM then ‘CROME' wall be written as

(1) BQ5HL (2) BHQLH
(3) BQsLLD (4y BSsLH
Options :

61547513469 1
61547513470, 2
E1547513471. 3
E1547513472. 4

[

Question Number : 18 Question Id : 6154753453 Question Type : MCQ Option Shuffling : No Display Qge"stidn Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 . {I ‘s
If5 "SOLUTION' % o7, RAKTSHAM' 2 91 ‘CROME’ &1 Hfeiigd 4 4 fog =9 4 foman smom ¢

(1) BQ5HL (Z2)y BaQLH
(3) BQLLD (4) BS5HLH
Options : ;’JI L'I

61547513469 1
61547513470, 2
E1547513471. 3
B1547513472. 4
- I

Question Number : 19 Question Id : 6154753454 Qﬁbsﬁ%n Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatl’bru: Vertical

Correct Marks : 2 Wrong Marks : 0 -

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s inversely proportional to ¢ (2) ‘a 1= directly proportional to ‘¢’
(3) ‘a’ 13 constant (4) ‘a 1s directly proportional to ‘be’
Options : f !-f \

E1547513473. 1
B1547513474. 2
51547513475 3

61547513476, 4
i

v
Question Number : 19 Question Id : 6154753454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T3 ‘o, b’ 1 AFAIIE! ¢ 3 b, ‘¢’ T AcHAEIR] ¢, dl

(1)  ‘a.'c H gl & (2) ‘a. ¢ FH ATAHEIE 2

(3) ‘g fR? (4) ‘a.‘be T FTAHETE! 2
Options :
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E1547513473. 1
61547513474 2
51547513475 3
61547513476, 4

Question Number : 20 Question Id : 6154753455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A sum of Rs. 2.000 vields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2) 10%
(3) 11% (4) 12%

Options :

61547513477, 1
61547513478 2
61547512479 2
61547512450, 4

-

|
Question Number : 20 Question Id : 6154753455 Question Type :;WICQ Option/Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical _ i |
Correct Marks : 2 Wrong Marks : 0 f Y |

2000 T35 $t 9909 T 0 U2 O T 180 F1 TIUEW 19 TH 241 2| =7s 6 aibs = 2 -

(1) 9% (2) 10%
(3) 11% (4) 12%

Options :

61547513477,
61547513478,
£15475132479.
61547513480,

o IR

1]

Single Line Question Option : No tion Orientation : Vertical

Question Number : 21 Question Idé})6154753456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

A fallacy in which an opponent’s position 1z depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1=z called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options :

51547513451, 1
61547513482 2
61547513482, 3
E1547513484. 4

Question Number : 21 Question Id : 6154753456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QEgstira&ption : No Option Orientation : Vertical www.examrace.com



Correct Marks : 2 Wrong Marks : 0
T4 geara faod gidar = feifa #1 anaa T Gfedma O Sfas afaem 31 SFieaTd F 59 9 59
21 A1 35 391 #gl AE1 27

(1)  AF4H=H U3 9= (2) = igEhm
(3)  HATHE=H UE B (4) T EA
Options :

615475134581, 1
61547512482, 2
61547513483 =
61547513454 4
£ -

Question Number : 22 Question Id : 6154753457 Question Type : MCQ Option Shuffling : No Display Questioff Number : Yes
Single Line Question Option : No Option Orientation : Vertical ;

Correct Marks : 2 Wrong Marks : 0

The distinction between Sawvikalpaka (determinate) and Nirvikalpaka (indeterminate) 1s
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyaksa (perception)
(3} Arthapatti (postulation) (4) Upamana (comparison)
Options : V f

E1547513485. 1
E1547513486. 2
B1547513487. 3
6154751345858, 4

——

Question Number : 22 Question Id : 6154753457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i

fafafga § T fem 9o = g9y § afaseus 3w Afdwes 5 9 o9 e s 27

(1) FHI (2) 9a4
(3) AT (4) 3I9HME
Options : 4 i

E1547513485. 1
61547513486, 2
61547513457, 3
61547513488, 4

Question Number : 23 Question Id : 6154753458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term {2) Undefined term
(3) Minor term (4) Maddle term
Options :

E1547513489. 1
515475134350 2
51547513451, 3
61547513432 4

i,

Question Number : 23 Question Id : 6154753458 Question Type : MCQ Option Shuffling : No Display Qlﬁestlon Number : Yes
Single Line Question Option : No Option Orientation : Vertical J.'/

Correct Marks : 2 Wrong Marks : 0

TE AT F59TE GRS F AR T4 A $ 9 § efatag § O 5 9 O gefay 27

(1) FEd 7" (2) waiaTYa 92
(3) wH (4) THATE
Options : f | |

L154751323489. 1
21547512490 2
1547512491 2
1547512492 4
<l

Question Number : 24 Question Id : 6154753459“Qr{*1es$|0n Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation': Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or demes class inclusion?

(1) Quality (2) Quantity
(3) Dhstribution (4) Comparison
Options : ! ,I L

6154751343921
615475134394, 2
E15475134385. 3
E15475134396. 4
A

Question Number : 24 Question Id : 6154753459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fefafias § & F9-01 TFen o Gias ThaEa #) (a9 4 gatag 2 <1 =9 aa o HaifE 2 2

(1) ™ (2) oA
(3) TaaTm (4)  dT

—
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Options :

51547513493, 1
61547512494 2
£1547512495 =2
61547512496, 4

Question Number : 25 Question Id : 6154753460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 67 Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options : { F

6154751344971
61547512498 2
61547513499, 3
61547513500, 4
,”’ "
Question Number : 25 Question Id : 6154753460 Question Type I"MCQ Opt|0n, Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical I

Correct Marks : 2 Wrong Marks : 0 I‘ 4
Rl 49 FER v el 1 UEEA 6 g 9T 2| W6: 3 x 4 x 5 (=60), 6 gF 9= 2| 9 e
ThE H d HiEd 27

(1)  Tmaees a5 (3 3 O A
(3)  qar=® T (4) ATTHIEEF IF
Options : P

515475134571
615475134388, 2
615475134399, 3
61547513500, 4

Sub-Section Number: 2

Sub-Section Id: 615475155
| Question Shuffling Allowed : Yes

J

Question Id : 6154753461 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cuesticon Label | Comprehension
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Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the guestions that
follow the table :

Programming Language | % of People having knowledge
C++ 15%
C 25%
COBOL 12%
FORTRAN 13%
Java 15%
LISP 10%
Python 10%

4

r

Sub questions

b

{
Question Number : 26 Question Id : 6154753462 Question Type : MCQ Opti‘o‘n Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ”

Correct Marks : 2 Wrong Marks : 0 '

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

{1) S35 7)) Haud
(3) 1.5, (4) bH:2
Options : Y .1 {

E1547513501. 1
B1547513502. 2
61547513503, 3
61547513504, 4

Question Number : 27 Question ld : 6154753463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks/t 2 Wrong Marks : O'rf

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options : .

E1547513505. 1
61547513506, 2
61547513507, 3
E1547513508. 4

Question Number : 28 Question Id : 6154753464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options :

E1547513509. 1
61547513510, 2
61547513511, 3
61547513512, 4

Question Number : 29 Question Id : 6154753465 Question Type : MCQ Option Shuffling : No Display Ql#e'stion Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 1 / .
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% (2) 11.7%
(3) 26.6% (4) 11.0%
Options : ,."r \ JIF

15475135121
61547513514, 2
61547513515
61547513516 4
< J
Question Number : 30 Question Id : 6154753466\Qpes{fi0n Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20,000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options : f

E1547513517. 1
51547513518, 2
61547513515, 3
61547513520, 4

|

r
Question Id : 6154753461 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (26 to 30)

Question Label : Comprehension
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359 (w94 26 T 30) ; Freafefga oiferrr & fafiaa donfon SFas 993 T =t 6 gfdsaar 4 w2

M2 O T AW 7 SO ofvdd S 9 AR 1 e S 12,00,000 &, d1 ARl WoATENE
Taferfiga 9931 =1 3 difa

ST < AT FEFR] TEH

Tt AT = TideradT
C++ 15%
C 25%
N 12%
Feh 13%
— 15%
v 3 U 10%
e 10%

Sub questions 'S i ) ;

r
Question Number : 26 Question Id : 6154753462 Question Type : J:Q OptionlIShuffIing : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical _l‘r ! ."F
Correct Marks : 2 Wrong Marks : 0 / P

(1) e () 53
(3) B 4y 5.2
Options : .

61547513501, 1
61547513502, 2
61547513503, 3
E1547513504. 4

- &

Question Number : 27 Question " 6154753463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No tion Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fehd" FARRAT & C o7 dd = 9HHR & 7

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options :

E1547513505. 1
61547513506, 2
61547513507, 3
E1547513508. 4

Question Number : 28 Question Id : 6154753464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QExstioraCption : No Option Orientation : Vertical www.examrace.com



Correct Marks : 2 Wrong Marks : 0

C. 91 311 FE S ad FH 9T S i F O 2

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options :

E1547513509. 1
61547513510, 2
61547513511, 3
61547513512, 4

¥

&
Question Number : 29 Question Id : 6154753465 Question Type : MCQ Option Shuffling : No Display Quest!f)n Number : Yes
Single Line Question Option : No Option Orientation : Vertical { e

Correct Marks : 2 Wrong Marks : 0
T, U 312 v o 337 a7 S wrad s FESE W@ 3 S 38T Siaeaal el 2 7

(1) 1.04% (2) 11.7%
(3) 26.6% (4) 11.0%
Options : f 'l 1';

E1E4751=2512 1
1547512514 2
1547512515 2
1547512516 4
Vi

Question Number : 30 Question Id : 6154753466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 .

-

RO e R R e e e e | B e e e e e

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options : '

E1547513517. 1
51547513518, 2
61547513515, 3
61547513520, 4

Sub-Section Number: 3
Sub-Section Id: 615475156
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154753467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Mark%: 2 Wrong Marks : 0
xamrace www.examrace.com



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-EOM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). {c). (a)
(2) (b}. (a). (¢
(3) (c). (b). (a)
(4) (a). (c). (b)

Options :
61547513521, 1
61547513522 2
61547513523 2
£15475123524. 4
’,.- ]

If |
Question Number : 31 Question Id : 6154753467 Question Type},; MCQ fiptior;' Shuffling : No Display Question Number : Yes

i

/

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

fefetag gume feaear = =R Fifen

(a) zTe 25w
(b)y HiZim

(c) CIRCHRC e

3= TUET U4l & SIRE 0 § FFfedd e o i fFEer ZHu

1 (b (@), (@
(2) (b)), (a), (¢)
(3)  (e). (b). (a)
4  (a), (e), (b)

Options :

615475135211
61547513522 2
61547513522
61547513524 4

Question Number : 32 Question Id : 6154753468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct MarkEX2nWae@g Marks : 0 www.examrace.com



Which of the following 1s a Decision Support Svstem’ for assisting people 1n taking best

decizions for theilr childern’'s future?

(1) E-Pathshala
{2) Saransh
(3) Shaala Sidhdhi

(4) SWAYAM PRABHA
Options :

61547513525 1
E1547513528. 2
E154¥513527. 3
61547513528 4

Question Number : 32 Question Id : 6154753468 Question Type : MCQ Option Shuffling:: No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical -

Correct Marks : 2 Wrong Marks : 0 d { i

ﬁﬁﬁﬂaﬂnnﬁqmwmw@tvﬂ|¢u|qw¥fﬁﬂﬂawﬁwmnwmﬁhnn
HAHE 7 27

(1) R e

(3) =T e

(4) EES pIpRpE LRl

Options : {
615475135251
£1547513526. 2
61547513527 3
1547512528 4

|

Question Number : 33" Question Id": 6154753469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question.Option : No fptlon Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following is NOT suitable in the context of E-mail?

(1) It 1s a letter sent over a computer network

(2) It can be used to send unsolicited messages

(3) E-mail is snail-mail

(4) E-mail address includes domain name
Options :

£154751 ==antrace WWw.examrace.com



E1547513530. 2
51547513521, 3
61547513532, 4

Question Number : 33 Question Id : 6154753469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

MEANEd § H I H 26 o Hed § AT 2

(1) ¥ %92 J2ds W 941 70 UF 99 2

(2) = FATG a9l & Y9 1 94 @ T%4l 2

(3) WA HeE T AT 0 2

(4) U 94 H A W WS 24 2
Options : i
61547513529 1
61547513530 2

E154¥513551. 3

61547513532. 4
|

Question Number : 34 Question Id : 6154753470 Question Type : MCQ Option Shufflmg No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vegcal

Correct Marks : 2 Wrong Marks : 0 f
Match List I with List IT :

List I List II
(E-1nitiatives) (Descriptions)
{a) Vidwan (1) Repository for full-text thesis. e-books

and journals

(b)y Digilocker (1) Education portal to facilitate learning

{¢) Sakshat (1) Databaze of leading  scientists/
researchers

(d) Shodh Ganga (1v) Platform for 1ssuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(111). (e)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1v), {e}-(11}. (d)-(1)
{3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(ii1). (d)-(iv)

Options :
6154?5135E59gn1race www.examrace.com



E1547513534. 2
51547513535 3
51547513536, 4

Question Number : 34 Question Id : 6154753470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T=A-1 %7 Gei-11 5 T19 A Hiag
-1 gH1-11
(3-wafism) (feramon)
(a) fagH q) "yl ga g Eg, o999 A SHem
by Tesficta (i)  ATFTH FT GATA FAE F (o0 A% T
(c) T (i) i ARl i w5 2eeE
(d) I T (iv) ZEATEEl U9 YHWET o SR A 99T T
Fr= fou o fod 8 @ wd SR g

(1 (a)-(1). (b)-(111). (c)-(1v), (d)-(11}
(2) (a)-(111), (b)-(v). (e)-(1i1). (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(11). (d)-(1v)

Options : y {
15475135331
61547513524, 2
61547513535
61547513536 4

Question Number : 35 Question Id : 6154753471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In computer related activities. what 1s the full form of “WORM'?
(1) Write On Random Memory
(2) Write On Real Memory

(3) Write Once Read Many

(4) Write Once Read Memory

Options :

E1547513537. 1
Examrace www.examrace.com



E1547513538. 2
51547513539, 3
51547513540, 4

Question Number : 35 Question Id : 6154753471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FIZT Tel e el 0 Socty 41 30 U5 = 90 B9 37

(1) 122 314 =0 age

(2) 22 3119 T« OO
(3) 22 39 T

(4) T2 34 {1 T
Options : . : 'y
615475135371
61547513528 2
615475125249 2
61547513540, 4

T

i

Question Number : 36 Question Id : 6154753472 Question Type : MCQ Jp‘én Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 a Iy

The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministryv of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Rural Development

(3) Ministrvy of Water Reszources: Ministrv of River Development and Ganga

Rejuvenation; and Miniztry of Drinking Water and Sanitation

(4) Ministry of Water Resources
Options : - ri
51547513541, 1
61547513542 2
61547513543 =

61547513544, 4

Question Number : 36 Question Id : 6154753472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T TR T Frafatas § @ 5 oo /gt 3 aremm 0 o 9 S S T 1 27

(1) = HHraE Harerd 31 gl fase weE

(2) A HETER WA T A 3 T Sem T a6 Ui e g

(3) o TEEE B 190 T S T ST 9 99 e 3 el 5
(4) 9 TETEE B

Options :

61547513541, 1
61547513542 2
61547512542 5
61547513544 4

Question Number : 37 Question Id : 6154753473 Question Type : MCQ Option Shuffling : No Displ"a¥ Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ; -

Correct Marks : 2 Wrong Marks : 0 s % \ i

Identify environmental issues which are local in nature :

(1)  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(iv) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (1), (v) and (v1) (2) (. (av). (v) and (v1)
(3) (11). (1), (1v) and (v) (4)  (1). (11). (111) and (1v)
Options : "4

E1547513545. 1
E154751354E. 2
61547513547, 3

61547513548, 4
|

l ]
Question Number :IBY Question Id : 6154753473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line QuestionOption : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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frefafga § 4 39 w=iEwiE g2 it vg=m fifae 9 =T 535fa % 2

(1) HATAT T T &
(i)  FHe T
(iii) &

(iv)  AoTarg TiEdd
(V) EEEEIE

(vi)  SiF ITIETE TEgT

I 7Zu v faF=Ti 0 0 98 39 9 =999 Sian

(1) (i), (ii1). (v) 3T (vi) (2)  (iii). (iv). (v) 3T (vi)
(3) (i), (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 37 @[@v)
Options : . y

515475135451
61547513546, 2
61547513547, 3
615475135458, 4

J

[ ()p J
Question Number : 38 Question Id : 6154753474 Question Typel: MCQ jxn Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical /

Correct Marks : 2 Wrong Marks : 0 i il
Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stockholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options : { i

E15475135459. 1
61547513550, 2
61547513551, 3
61547513552, 4

I

Question Number : 38 Question Id : 6154753474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QuestiomOption : No i)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks
Em‘%mﬂr‘ ﬁ- ij m ﬂl ‘_q.;._l;r TFE mf‘ ;E ng m ﬁ -EI"FE ]__"ﬁ.ll %a?m T ;FlJi m I:\m -E'T"E:I.TE w -q?TI
WZTad Saaqh2) I AT T 7

(1)  *=ihe™ F1968 (2) o 3 St 15
(3) SO giE (4) TEHETERE FIEFE
Options :

61547513549 1
E1547513550. 2

51547513551, 3
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E1547513552. 4

Question Number : 39 Question Id : 6154753475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescrbe limits on greenhouse gas emizsions for individual counties

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options : - 7

E1547513553. 1
51547513554, 2
61547513555, 3
61547513556, 4
4 { (

Question Number : 39 Question Id : 6154753475 Question Type : M ) Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |

Correct Marks : 2 Wrong Marks : 0 / | i
FEffgd § 0 FH-91 94% U9 Fedr] Tiaa- FHa e (4 U1 OF d 91 5Hi) % 3293 F g9l
a7

(1)  FE9sa 4 97 350 T F O #1 g

(2) T e foEm B oA Tey Y seeen w g RgiiE

(3)  HEAd 9F 1A A

(4) T 5F1 gAI F9ag FEAE A7 T gd [GETHa Ja FwA

Options : ( ',
61547513553, 1
61547513554 2
61547513555
61547513556 4

[

Question Number : 40 Question Id : 6154753476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question-Option : No j)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle chimate change
(3) Beat air pollution (4) Save water
Options :

51547513557, 1
61547513558, 2
61547513559, 3

E1547513560. 4
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Question Number : 40 Question Id : 6154753476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AW YA o WA B Tovasandi SRl 31N FEA I Siehled #9 od 3 U 0 J e 9 9
fery T = ufd fava matEw f2am (2019) & w9 o =R 27

(1)  Fa1 a=ns (2) Fedar SfEda f maen 1 g FEee W
EI-‘I N

(3)  Ard 9l =i UhH (4) =T Tl

Options : - :

E1547513557. 1
61547513558, 2
615475135549, 3
61547513560, 4

]

r

Question Number : 41 Question Id : 6154753477 Question Type : MCQ OptLon Shufﬂl'ng : l<l(0 Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 ,-‘" .

The Ancient Indian University known asz the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options : - ,f

£154¥513561. 1
61547513562 2
61547513563 3
61547513564 4
% |
Question Number : 41 Question Id : 6154753477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No',Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

frafafiga 0 9 fro o= g fosafaaem =1 = o o o8 4 5= 30 falE ol & 999+
F TG I A2 7

(1) e favafa=n=g (2) T AvatEaeE
(3) e T—q's—cmmm (4) Tz avalaaes
Options :

51547513561, 1
61547513562, 2
61547513563, 3
61547513564, 4

Question Number : 42 Question Id : 6154753478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Whaich 1items 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Omriental languages
(111) Spa management
(1v) Museoclogy

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2) (1), () and (v)
(3) (1). (111) and (1v) (4}  {11). (1v) and (v)
Options : , L\

51547513565, 1
61547513566, 2
61547513567, 3
61547513568, 4

k-
s N \ "
Question Number : 42 Question Id : 6154753478 Question Type : OptidﬁIShuﬁling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i
Correct Marks : 2 Wrong Marks : 0 ,'r i ,r'
ffeatigs § @ %9 § 92 T-9ngies 1 Sl % 9o 87
iy @ gmfe

(11) =4 aNH
(i) 9 9EeH
(iv)  TUEEE-TaTH
(v)  goHTH® A

HEREd AT § 9 A9 39 94

(1) (1). (i1) 37 @[v) (2) (i), (1) 3R (v)
(3) (1), (i) IR (iv) (4)  (11). (1v) 30 (v)
Options : |

61547513565 1
61547513566, 2
61547513567, 3
61547513568, 4

Question Number : 43 Question Id : 6154753479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehahilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options :
1547513569 1
1547512570 2
1547512571 2
1547513572 4

L

Question Number : 43 Question Id : 6154753479 Question Type : MCQ Option Shuffling : No Display Questk{n Number : Yes
Single Line Question Option : No Option Orientation : Vertical { r

Correct Marks : 2 Wrong Marks : 0

faffgd § @ #1 o H-dfatas e 2 ¢

(1) ¥ e e 9ieg (v =i A 3)

(2) WA AlgEeE TEg (& o )

(3)  RAME T TG (AR )

(4)  TEE oA AR TeEH 90N (U4 U U )
Options : F s
61547513569. 1
51547513570, 2

61547513571, 3
61547513572, 4

.

Question Number : 44 Question Id : 61Eﬁ4753’ 80 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No- Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following has been the basis for introduction of yvoga 1n teacher training
courzes’
(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vizsion of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Poliecy — 2019
Options : f

BE1547513573. 1
61547513574, 2
61547513575 3
E1547513576. 4

Question Number : 44 Question Id : 6154753480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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STEATT - T914T TT3=sRET § 1T &1 G F1 & g § O %9 T 397497 27
(1) e fomen fifa-1968

(2)  TE e id-1986

(3)  9RA H AATH fHam =i 9 212, e SR A e -2012
(4y  TE Toe fifd-2019 1 9=

Options :

15475135731
E1547513574 2
61547513575,
61547513576, 4

(

Question Number : 45 Question Id : 6154753481 Question Type : MCQ Option Shuffling : No DFpIay Questiop*Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i1) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (iii) (2) (i), (1) and (iv)
(3) (ii1), (iv) and (v) (4) (v), (1) and (i1)
Options : .

E1547513577. 1
E1547513578. 2
61547513575, 3
61547513580, 4

i 1
Question Number : 45 Question Id _.P6154753481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (r
v

F
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3= e 49 ° gatyd Aifq 1w & O 969w F vee 59 F wEE #1

(1) S8 Fledll i FEEA
(i)  TafEmms 99 O gan
(111) qfETST 310 Iamsf S I yj“i."'ﬁ =i yzfa F T

(iv)  ¥Id T F1 oaeUd
(v)  TEHE Y giaEE

FAfeigs e § 8 A7 39 =

(1) (1), (i1) 37 (ii1) (2) (i), (ii1) 30 (1iv)
(3) (ii1). (iv) 3T (v) (4)  (1v). (1) 377 (i)
Options : { F

61547513577, 1
61547513578, 2
61547513579, 3
E1547513580. 4

/ \ !
.'K J
Sub-Section Number: 4 ‘7 J
Sub-Section Id: 61547515 f
Question Shuffling Allowed : Yes —— /
4 (

Question Id : 6154753482 Question Type : COMPR{HEﬂISION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

<
Question Numbers : (46 to 50) Vi
Cesticn Label | Comprehension

For questions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“democracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of politics and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy”
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating democratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs, its
association with ethies or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154753483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options :

E1547513581. 1
61547513582, 2
51547513583, 3
61547513584, 4

Question Number : 47 Question Id : 6154753484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i

Correct Marks : 2 Wrong Marks : 0 .
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy

(3) Actual democracy (4) Theoretical democracy

Options : _ & 1 (

51547513585, 1
61547513586, 2
61547513587, 3
E1547513588. 4
f ,

Question Number : 48 Question Id : 6154753485 Questi&n Type : MCQ Oprtio'h Shlﬁ:ﬂing : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 - I ;
According to the passage actions of political representatives manmifest

(1) Political wall (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options : 1 {

61547513589, 1
61547513530, 2
E15475135391. 3
E15475135392. 4

]

Question Number: 49 Question Id : 6154753486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the author. the idea of democracy 1s viewed as

(1) Ethical pohitics (2)  Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options :

E15475135583. 1
E15475135394. 2
51547513555 3
51547513556, 4
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Question Number : 50 Question Id : 6154753487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralizsation of power in a few individuals
Options :

B1547513597. 1
61547513588, 2
61547513599, 3
61547513600, 4
[ F

Question Id : 6154753482 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No d

Question Numbers : (46 to 50) . g

Cestion Label COI‘H}JI’EhEﬂSiOH

99 ;46 T 50

frafafEa sa 1 gfen 3 fow o gve = 33 A

ey TeHifas widfiae tay mremm 2 T9my g, saaeritn, Tedifas A Suig 9w § St

9 9iqTIE A9 2A1| TR 320 Aehad SeAed: WA UAE o wiiwad ° O 92 89 21 3A Tk 5
Arad U UHT %@ 21 A1 9 Had * Sadia A1 A0 TiAE 2 W o1 A6 99 42 06 Tl
R g/ 1 %5 &1, 9 300 SAHME 98 - 98 80 ddd wed ¢, 34 998 TR F A ©
- “UAHETEE Jag” FbiE [aied 38 F9EEY g Hvgd =9 0 TS 999 2 2.
A & FE AFAiEE TS ] THHaH ATFR B 9iod #34 3 WaHeF TR S0l 21d 2
ATFRAIAF AT H TaHIaF =3 # 9g@l o % (v 79 SfaHeaend 9 WOsHE w4 2| T4
AT 76 F2 “Uiattama F fTan i w1 #ar 2, 91 Aawd 7 7=2% 3 20w ue=d oftgss § 38
giatiaea wdl & AW I8 Al AR & FOEl F F9 a9 Ea & aidae ATaeE gid 5 A

Sub questions r !

Question Number: 46 Question Id : 6154753483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HefAngd 5 4 O sng=e TS 281 9191 61 @ Higd 27

(1) AT T (2y  TTET T A
(3) i fams (4) gfatiagerrar
Options :

61547513581, 1
61547513582, 2
61547513582, 3

E1547513584. 4
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Question Number : 47 Question Id : 6154753484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

THiTaE gaHtas + s ot O O &g =1 323 35d Ban 7

(1) U T Aad (2) 32 ATHAA
(3)  AAEE AlFAd (4) TZIEF AT
Options :

61547513585, 1
E1547513586. 2
E1547513587. 3
51547513588, 4

Question Number : 48 Question Id : 6154753485 Question Type : MCQ Option Shuffling : No Dlsplay Questrln Number : Yes
Single Line Question Option : No Option Orientation : Vertical ]

Correct Marks : 2 Wrong Marks : 0

(1) TS T=aEh (2) FHEE F A4
(3)  TSHIA® WE (4) FH-TIAM =9d8R
Options : .r" I. _.-'I

E1547513589. 1
515475135390, 2
515475135381, 3
615475135392, 4
- ,n

Question Number : 49 Question Id : 6154753486 Q‘hestlon Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TEF F ATAN AFAd F [d9n F1 58 =9 ° @1 a1 27

(1) i smariE T (2) wfattum Fi =
(3)  WidH=ATH Wiz (4) T AFT F T F AW EE
options: | |

615475135392 1
E1547513554. 2
B1547513585. 3
51547513556, 4

v

Question Number : 50 Question Id : 6154753487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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AHSHe® Aad = a4 § og® & 31 fo=m 27
(1)  Talg= v 3=

(2) AESE 9rfiErE

(3) {9 HOT9E

(4)  F@ ARRAN % 219 T TA1 T Fp ol
Options :
61547513597 1
61547513598, 2

61547513599, 3
61547513600, 4

PART Il Archaeclogy
Section Id : 61547548 . F

Section Number : 2 e \ (
Section type : Onliné »
Mandatory or Optional: Mq@itory |
Number of Questions: 9 i {
Number of Questions to be attempted: 9r2 ;"I
Section Marks: 200 ‘ /
Display Number Panel: Yes ,H’J
Group All Questions: No ~y
4 f
e ¢

Sub-Section Number: - A Ik

Sub-Section Id: 615475158

Question Shuffling ‘Allowed : Yes

i

Question Number : 51 Question 1d : 6154753188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :,0

Who among the following argued that domestication took place 1n certain nuclear zones.

which supported a variety of wild plants and animals?

(1) Robert J. Braidwood (2) Lewis R. Binford
(3) V. Gordon Childe (4) Kent Flannery

. w
Options : .

E1547513601. 1
E1547513602. 2
615475136803, 3
61547513604, 4

Question Number : 51 Question Id : 6154753488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fefafEs § 4 o 32 7% fom 7 T F9 v AieERE a9 1 2o o fafag 3 e i g

(1) a2 3. 9=9s (2) Tofam 3w, foAes
(3) @ TiEd d9Ees (4) FZ FA
Options :

E1547513601. 1
615475136802, 2
61547513603, 3
E1547513604. 4

Question Number : 52 Question Id : 6154753489 Question Type : MCQ Option Shuffling : No Dlsplay Questlon Number Yes
Single Line Question Option : No Option Orientation : Vertical {

Correct Marks : 2 Wrong Marks : 0
Black — and — Red Ware potteries have been recovered from Neolithic level at which one of

the following sites?

(1) Senuwar (2) Chechar
(3 Chirand (4) Kuchai
Options : v f

E1547513605. 1
615475136806, 2
61547513607, 3
E1547513608. 4

Question Number : 52 Question Id : 6154753489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiora Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i

fFrefaigd § 4 o w9e o A9 T 0 F-diled (R AR-ae) W o i % adq g gy # e

(1) TR (2) =

(3) Tz (4) 9B
Options :

615475132605,
61547513608,
61547513607,
61547513608,

a2 e

Question Number : 53 Question Id : 6154753490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The homimids from Sterkfontein belongs to

(1) Pliocene (2) Plio — Pleistocene
(3) Upper Pleistocene {4y Holocene
Options :

E154751360%3. 1
51547513610, 2
615475136811, 3
E154751361%. 4

Question Number : 53 Question Id : 6154753490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical {

Correct Marks : 2 Wrong Marks : 0 .
=R | W HEaEH 9 TR T R 27

(1) s g (2)  AF-TaTT 0
(3) I WifeHeA I (4) I T
Options : f j'

E154751360%9. 1
61547513610, 2
E1547513611. 3
E1547513612. 4
- .

Question Number : 54 Question Id : 6154753491 Qﬂbs@%n Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatl)bru: Vertical

Correct Marks : 2 Wrong Marks : 0 -
A complete fossilized human baby skull has been found at

(1) Hathnora (2) Odal
{(3) Jwalapuram (4 Bhimbetka
Options : ri

615475136121
61547513614, 2
E1547513615. 3
E1547513616. 4

5

¢
Question Number : 54 Question Id : 6154753491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) B @) FEE
(3) AT (4) sfmea
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Options :

615475136131
15475123814 2
1547512815 =2
61547512616, 4

Question Number : 55 Question Id : 6154753492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A burial has been found from which of the following sites wherein the head of the male was

towards the North while that of the female was towards the zouth?

(1) Saral Nahar Rai (2) Mahadaha
(3) Chopani—Mando (4) Damdama
Options :

61547513617, 1
615475136158, 2
E15475136149. 3
E1547513620. 4

Question Number : 55 Question Id : 6154753492 Question Type, MCQ pt|0n Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Heffead ﬁﬁiﬁﬁqﬂmﬁﬁﬁﬂmﬁnﬂ%ﬁmwmmﬂﬁyﬁr%rﬂﬁm’?ﬂfmaﬁmﬁ
HE 27

(1) [ ATEL T (2) TOg=zl

(3) =9 HE (4) =HEHI

Options : |

E1547513617. 1
E1547513618. 2
E15475136143. 3
E1547513620. 4

Question Number ;56 Question Id : 6154753493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The only pre — sapiens fos=1l of skull cap known from the hathnora 1= dated to

(1) Early Pleistocene (2) Late Middle Pleistocene
(3) Late Pleistocene {4) Holocene
Options :

51547513621, 1
G1547513622. 2

E15475132625. 3
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E1547513624. 4

Question Number : 56 Question Id : 6154753493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BT %1 T O T4 WI9] 1 Wh-HUae SEwy 60 30 #1287

(1) & A 70 (2) 39 AA Wiiadad I
(3) I WA I (4) AT T
Options :

E1547513621. 1
E1547513622. 2
BE1547513623. 3
61547513624, 4

4

Question Number : 57 Question Id : 6154753494 Question Type : MCQ Optlon Shuffljng No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical \ (

Correct Marks : 2 Wrong Marks : 0 £ 2
Who was the first person to analyse weapons, warfare and other images in rock paintings at
Panchmarhi in Madhva Pradesh?

(1) Fred Fawcett (2) D.H. Gordon
(3 V.5. Wakankar (4) Yashodhar Mathpal
Options : i 1 {

515475136251
E1547513626. 2
61547513627, 3
E1547513625. 4

Question Number : 57 Question ld : 6154753494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marksst 2 Wrong Marks : O‘r,f

b et e R o L e i o = 5 R e | e s B e A e e e B e e e e o

(1} %= %8 (2) Fua. TEd
(3)  =iUE. I (4) IO -39
Options :

615475136251
E1547513626. 2
E1547513627. 3
E1547513625. 4

Question Number : 58 Question Id : 6154753495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Mark€EExamtaroag Marks : 0 www.examrace.com



Half life of C!*for carbon — dating 1s:

(1) 5530 + 40 vears (2) 5568 + 30 vears
(3) 5630 + 40 vears (4) 5730 + 40 vears

Options :

61547513629, 1
615475126320 2
1547512621 2
61547512622, 4

Question Number : 58 Question Id : 6154753495 Question Type : MCQ Option Shuffling : No Display Qdestion Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 \ {’ )
FEA-SRT % Tou C14 =1 g Sied @

(1) 5530 + 40 39 (2) 5568 + 30 F9
(3) 5630 + 40 79 4y 5730 + 40 T
Options : f . I

1547512629 1
1547512630 2
61547513631 2
1547513632 4
<

Question Number : 59 Question Id : 6154753496 es‘tion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation': Vertical

Correct Marks : 2 Wrong Marks : 0
The presence of an Acheulian tradition in Rajasthan by finding handaxes and cleavers was

revealed by C.A. Hacket. who belonged to:

(1) Archaeological Survey of India (2) Geological Survey of India
(3) Anthropological Survey of India (4) Botanical Survey of India
Options : ,r

E154¥513633 1
61547513634 2
61547513635 3
61547513636 4
d F
Question Number : 59 Question Id : 6154753496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FdFan 31 [@ERE = Wi # TaE A od T = 39 W 9AT S 9 W0, 8 gaiad

5
(1) WA goacd gaem (2) 9T 9 9 A
(3) A AE e wEem (4) GFAE FTAE Gaam

Options :

51547513633. 1
61547513634. 2
61547513635. 3
61547513636. 4
{

Question Number : 60 Question Id : 6154753497 Question Type : MCQ Option Shuffling : No Di'splay Questioh Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 ¥

The Pleistocene sediments of the Belan Valley were studied Geologically by:

(1) G.G. Majumdar and 5.N. Rajaguru (2) P.C. Pant and Vidula Jaiswal
(3) B.B. Lal and K.V. Soundara Rajan (4) F.E. Zeuner and B. Allchin

Options : W,
615475126371

61547513638, 2
61547513639, 3

1547513640 4
YA

——

Question Number : 60 Question Id : 6154753497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 F o

S A A Ja dose =1 e emga o g R T e

(1) S, o9mer 3N ve . U9
(2)  HHL 9 30 e e
(3)  #LE. A= AR w AL G e

(4) .2, ST 3 &1, T

Options : 4

61547513637, 1
E1547513638. 2
E1547513639. 3
51547513640, 4

Question Number : 61 Question Id : 6154753498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct MarksE: 2 Wrong Marks : 0
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In 1971 — 72 Betamecherla cave in Andhra Pradesh was excavated by:

(1) R.V. Joshi (2) K. Paddayya
(3) M.L.K. Murty (4) V.N. Misra
Options :

61547513641, 1
61547513642 2
E1547513643. 3
E1547513644. 4

Question Number : 61 Question Id : 6154753498 Question Type : MCQ Option Shuffling : No Display Q$eétidn Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 \ f’} .

1971-72 | 374 Yam H S=H= 6 1 e e g =i 12 of

(1) =T, S (2) . 92E
(3)  THEA %, g (4) . oy
. r i /
Options : ! \ !

E1547512641. 1
E1547513642 2
BE1547513643 3
61547513644 4
44
Question Number : 62 Question Id : 6154753499}Qhesfi0n Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

At Dorothy Deep Mesolithie site human skeletons were recovered byv:

(1) G.R. Sharma (2)  V.N. Misra
{3) G.R. Hunter (4) V.5. Wakanhar
Options : ' F

61547513645 1
61547513646, 2
E1547513647. 3

E1547513648. 4
v

Question Number : 62 Question Id : 6154753499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 2 TET 9T T T 09 Tl (RO grl ur TR g g7

(1) 1.3/ 5wt (2y dim. ™
(3) AW, ' (4) d1.UH. IR
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Options :

51547513645, 1
6154751326846 2
1547512847 2
61547512648, 4

Question Number : 63 Question Id : 6154753500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who concluded that the Birbhanpur area was both a habitation and factory =ite of Mesolithie
people?

(1) B. Allchin (2) N.K. Bose
(3) P. Mohanty (4) B.B. Lal
Options : i f

1547513649, 1
1547512850 2
61547512651,
61547512652 4
Question Number : 63 Question Id : 6154753500 Question Type ; "rl\//I,;:Q Opt|0n Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical | Ii
J

Correct Marks : 2 Wrong Marks : 0
0 T2 oy et & dRET 49 998 Tk A R AEEE AT 39 =E gE a7

(1) . T (2) WHF. =™
(3) i HEd (4) &LET, =
Options : b

615475136491
61547513650, 2
E1547513651. 3
E1547513652. 4

Question Number : 64 Question Id f6154753501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : Q
Mesolithic human skeletons of Damdama were studied by:

(1) K.AR. Kennedy (2) J.R. Lukacs
(3) J. Anderson (4) N.C. Lovels
Options :

E1547513653. 1
61547513654, 2
61547513655, 3
61547513656, 4

Examrace www.examrace.com



Question Number : 64 Question Id : 6154753501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EHEHT % Hed YIRS 0T el 1 SeqaT Rk g T may o

(1) F.0 3R, A (2) SN GEL
{3‘} _;]'_ ﬁw |:_4J' HFI-‘]\.ﬁ, f:‘i!:lﬂ';
Options :

61547513652, 1
E1547513654. 2
E1547513655. 3

61547513656 4
7
r
Question Number : 65 Question Id : 6154753502 Question Type : MCQ Option Shuffling : No Dfsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 a Y.

‘Pura Kala' an archeological journal 1s related to:

(1) Indian Society for Prehistoric and Quaternary studies
(2) Archeological Society of India
(3) Rock Art Society of India

(4) State Archeoclogy Department of Uttar Pradezh

b

Options :

615475136571
61547512658, 2
61547512659, 5
61547513660 4

PR |

\
Question Number : 65 Question Id : 6154753502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks )

[Alcd® Fcd 0 FeAl 0 Talad 27

(1) 3279 g9meEd w1 B2 v fEel 23b
(2)  OEAE TEF G

Options :

61547513657, 1
615475123858 2
1547512859 =2
61547512660, 4
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Question Number : 66 Question Id : 6154753503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Leonard Munn who investigated for the first time Iron-Age site of Raigir between Mau Al

hills in Nalgonda district was a

(1) Seottizh (2) (German
{3) French (4) TItalian
Options :

61547513661, 1
E1547513662. 2
61547513662, 3
E1547513664. 4

L
[

{
Question Number : 66 Question Id : 6154753503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 4

-

ferarTs 59 5@ 3 799 aR Temie e § 5see s F " win T T T 6 a whow

(1)  THiZeAs H (2)  FEAT F
(3)y FWF (4) T
. w »
Options : £

E15475136E1. 1
E1547513662. 2
BE1547513663. 3
51547513664, 4

Question Number : 67 Question Id : 61% 753504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optio Orie?tation : Vertical

Correct Marks : 2 Wrong Marks : 0

By whom the king ‘Pivadassl” mentioned 1in the Maurvan Inscriptions was identified as the
King Ashoka?

(1) George Turnor (2) James Prinzep
(3) Charles Maszon (4) A, Cunmngham
Options : |

E1547513665. 1
E15475136EE. 2
E1547513667Y. 3
E1547513668. 4

Question Number : 67 Question Id : 6154753504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A el 0 3igiad T i i TeEE U691 390 o+ B9 ° e AT

(1y  Frd 7 (2) g 9=
(3)  =ed HEA (4) T =HEE
Options :

1547513665, 1
61547512666, 2
61547513667, 2
61547513668, 4
@
Question Number : 68 Question Id : 6154753505 Question Type : MCQ Option Shuffling : No Dlsplay Quest Number : Yes
Single Line Question Option : No Option Orientation : Vertical '

Correct Marks : 2 Wrong Marks : 0 i F

What 13 meant by the term "Palaeography™?

(1) Study of Inzscriptions (2) Study of ancient scripts
(3) Studyv of coins (4) Study of Palaeoliths
Options : ,-'f i J'F

15475126659 1
1547512670, 2
1547512671 2
1547512672 4
- ﬁ

Question Number : 68 Question Id : 6154753505}QUest|0n Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘T T’ sreg 1 AfEE F= 2

(1)  TereTerdi =1 37854 (2) e Tl w5 s
(3) Tl w1 e (4) T T STETE
Options :

61547513669, 1
61547513670, 2
61547513671, 3
61547513672, 4

Question Number : 69 Question Id : 6154753506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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How many figures of animals have been depicted on the famous Pashupati seal found from

Mohenjodaro?

(1) Four (Z) Five
(3) Six (4) Seven
Options :

615475136731
61547513674, 2
E1547513675. 3
E154751367E. 4
§

Question Number : 69 Question Id : 6154753506 Question Type : MCQ Option Shuffling : No Display Questjtfn Number : Yes
Single Line Question Option : No Option Orientation : Vertical

r
Correct Marks : 2 Wrong Marks : 0 f

qrETarEsl § W Wiig Teatd 9@ W iRl ws- st w1 e R o 2

=

(1) = (2) 9id
(3) EE (4) HId
Options : ' V.

E1547513673. 1
E1547513674. 2
E1547513675. 3
B1547513676. 4

Question Number : 70 Question Id : 615475é507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiori Orie?tation : Vertical

Correct Marks : 2 Wrong Marks : 0

From where a terracotta headless figure of Bodhisattva Maitreva has been reported?

(1) Hastinapur (2)  Atrannukhera
(3) Vaishal (4) Ahichchhatra
Options :

61547513677, 1
61547513678, 2
61547513679.3
61547513680, 4

Question Number : 70 Question Id : 6154753507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i A 1 o Fod T il o R e @ e 20

(1) e (2)  ITATTES
(3) AT (4) HAlg=as
Options :

61547513677, 1
61547513675, 2
61547513679, 3
E1547513680. 4

L

Question Number : 71 Question Id : 6154753508 Question Type : MCQ Option Shuffling : No Display Quest’gn Number : Yes
Single Line Question Option : No Option Orientation : Vertical { F

Correct Marks : 2 Wrong Marks : 0 ;
Which of the following 1s considered the forerunner of Northern Black Polished Ware?

(1) Black and Red Ware (2) Painted Grev Ware
(3) Plain Grev Ware (4) Black Shpped Ware
Options : [ \ /

154751268101
1547512682 2
61547513683, 3
15475126584, 4
V¢ °

Question Number : 71 Question Id : 6154753508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 .

FefafEd 8 I 0 398 F1ell MA9ER gEaiE &1 S0 393 S 87
(1) =lel 3 & gaare (2) T=FE g T # gEaTe

(3) T YL T F OIS (4) e BT gETE

Options : |
E1547513681.
BE1547513682,
51547513683,
61547513654,

R N

Question Number : 72 Question Id : 6154753509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following Harappan sites has produced a broken triangular terracotta cake

bearing an engraved horned human figure?

(1) Rakhigarh (2) Kalibangan
(3 Kotdij (4) Lothal
Options :

61547513685, 1
61547513686, 2
E1547513687. 3
E1547513688. 4

§
Question Number : 72 Question Id : 6154753509 Question Type : MCQ Option Shuffling : No D|spIay Questlon Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 p -
frerferfiam 3 & form w2 To R o FRR SO S ST 2 2 o o o T e i
&
(1)  TEE (2) =IATE
(3)  FEEE (4) e
Options : if

51547513685, 1
61547513686, 2
61547513687, 3
E1547513685. 4

Question Number : 73 Question Id : 6154753510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 {

What was the most preferred material of the Harappans for making the seals and micro —
beads?

(1) Steatite (2) Copper
(3) Faience (4) Stone
Options :

61547513689, 1
61547513630, 2
61547513631, 3
E15475136392. 4

Question Number : 73 Question Id : 6154753510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) E i DR (2y Al
(3) T (4) HTHT
Options :

E1547513689. 1
E15475136590. 2
615475136591 =
615475136592 4
P :
Question Number : 74 Question Id : 6154753511 Question Type : MCQ Option Shuffling : No Dlsplay Quest Number : Yes
Single Line Question Option : No Option Orientation : Vertical ’

Correct Marks : 2 Wrong Marks : 0 i F

Paper pulp method 15 used 1in the treatment of:

(1) Glass objects {(2) Stone objects
(3) Gold objects (4) Shell objects
Options : ,.r"r | r'

E15475136393. 1
E1547513654. 2
E15475136%35. 3
E15475136596. 4

-

« [

Question Number : 74 Question Id : 6154753511 Queshon Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orlentatlhri Vertical

Correct Marks : 2 Wrong Marks : 0

-y fafe = vam frmek siea F o fer 9 27

(1)  fEn/=i= = 3o (2) T =t I
(3)  Tav Hiba @ge (4) " g s Ty
Options : r

615475136393 1
£1547513654,. 2
E15475132685 3
E15475136396. 4
v

I
Question Number : 75 Question Id : 6154753512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which cave of Ajanta bears the inscription engraved by Vakataka King Harisena
(AD 475-500)?

(a) Ajanta Cave No 16 (b) Ajanta Cave No 17

(c) Ajanta Cave No 19 (d) Ajanta Cave No 20

Options : Examrace www.examrace.com



E15475136597. 1
615475136838, 2
6154751368595, 3
61547513700, 4

Question Number : 75 Question Id : 6154753512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ATRTZF AT BV (475-500 3.8.) ZR1 311 1 560 THT 8 SAfaerg Sehmi 5 m 27

(1) 231 =i TH &A1 16 (2) TSl =] T WAl 17

(3) A1 I TH & 19 (4) A1 I TR WA 20

. " ' .
Options : F -

E15475136597. 1
E15475136398. 2
6154751368595, 3
61547513700, 4

r
|
Question Number : 76 Question Id : 6154753513 Question Type :@ Option/Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i |

Correct Marks : 2 Wrong Marks : 0 / '

Which of the following makes a reference to Zero for the first time?

(1) Gwalior Stone Inscription of Mihirbhoja
(2) Gwalior Stone Inscription of Mihirkula
(3) Two Inscriptions of Vailla — Bhatta Swamin Temple at Gwalior

(4) Baraha Copper Plate Inscription of Mihirbhoja

-

Options : i
1547513701, 1
E1547512702. 2
615475123702,
61547512704 4

|

Question Number : 76 Question Id: 6154753513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Ffcrfaa § 9 9e=f ar FFah =1 1 e 2o 2 7

(1) Tafzdre =1 rarfam o arfie
(4)  Toferdia =1 <08 919 Fer AT0eg

Options :
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E1547513702. 2
61547513703, 3
61547513704, 4

Question Number : 77 Question Id : 6154753514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following Mushm kings 1zsued coins with translation of Kalima in Sansknt
language and Sharda scrpt?

(1) Abu Mansur Subuktagir (2) Mahmud of Ghazni
(3) Muhammad Ghort (4) Alauddin Khilp
Options : !

E1547513705. 1
E1547513706. 2
61547513707, 3
61547513708, 4

{, -

[

Question Number : 77 Question Id : 6154753514 Question Type : MC O-ptio;p Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .

Correct Marks : 2 Wrong Marks : 0 J I

Teaferfiga gitem st 1§ oo sefian =t T0%d 91 31 9ee] f9Y 0 31991E & W bas i 47

(1) 39 WY e @) TEgE T
(3)  HEWZ UH (4)  AeATsZA g1
Options : | Y

615475137051
61547513706, 2
E1547513707. 3
E1547513708. 4

Question Number : 78 Question H 6154753515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Qugstion Option : No Qptien Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a part of the architecture of temples of Bhubaneshwar?

(1) Bhogamandapa (2) Garbhagriha
(3) Adhisthana (4) Sikhara
Options : r

615475137091
61547513710, 2
61547513711, 3
E1547513712. 4

Question Number : 78 Question Id : 6154753515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frfafad § @ Fi7 yavat & oie St i Tge w5 #7390 165 27

(1) 9y (2) mdE
(3)  AlgaH (4) T
Options :

E1547513703. 1
61547513710, 2
61547513711, 3
61547513712 4
.

Question Number : 79 Question Id : 6154753516 Question Type : MCQ Option Shuffling : No Display Questfo/n Number : Yes
Single Line Question Option : No Option Orientation : Vertical { e

Correct Marks : 2 Wrong Marks : 0
Who discovered the first Rock Painting in India?

(1) V.5, Wakankar {2y A.C.L. Carlleyle
(3) Erwin Neumaver (4) Alexander Cunningham
Options : f 1 |/

615475137131
61547513714, 2
E1547513715 3
E1547513716. 4

b {'

Question Number : 79 Question Id : 6154753516. Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 ; A
qFd H T8l 91 S oAl @ @ hEd wi e

(1) .o, awE (2) U.H A, FreAEA
(3) =i = (4) TeAFA=ET HiHAH
Options :

615475137131
61547513714, 2
61547513715 3
E1547513716. 4

Question Number : 80 Question Id : 6154753517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Examrace www.examrace.com



Which one of the following coins supplies the oldest specimen of Brahmi script and 1s 1n a

¥

way useful for the history of script?

(1) Coins of Dhanapala (2) Coins of Mahipala
{3) Coins of Vigrahapala (4) Coins of Anandpala
Options :

615475137171
61547513718 2
61547513719, 2
61547513720 4
¢
Question Number : 80 Question Id : 6154753517 Question Type : MCQ Option Shuffling : No Dlsplay Quest Number : Yes
Single Line Question Option : No Option Orientation : Vertical '

Correct Marks : 2 Wrong Marks : 0 { F
fFrfcfaa e § e 7 e fafd  IRHGH T3 399 20 2 3R U @ 9 A % 2fiem + fog
39T B 7

(1) o997 = HFF (2) wfew= F o
(3)  TaueT= % foFr (4) HAF=IA F HFF
Options : 'f

615475137171
61547513718, 2
E1547513718. 3
E1547513720. 4

——

Question Number : 81 Question Id : 6154753518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orieptation : Vertical

Correct Marks : 2 Wrong Marks : 0 i

Which of the following places are centres of late phase of Gandhara art?

(a) Mohra Moradu (b) Bamian
(c) Jaulian (d) Lorian Tongai

Choose the correct option.

(1) (a) and (b) (2 (b) and (d)
(3) (a) and (c) (4) (b)and (¢)
Options : f

E1547513721.1
B1547513722. 2
B1547513723. 3
61547513724, 4

Question Number : 81 Question Id : 6154753518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Teaferfiga = 1 § 8 9N Fell o Wadi =A% %iH 9 87

(a)  HE AW (b) fEEH
(c) ENEEIE (dy I rat 5
(1) (a) 3T (b) (2)  (b) 3R (d)
(3)  (a) # (o) (4) (b) H ()
Options : %W 4

E1547513721.1
B1547513722 2
61547513723 3
61547513724, 4

. & Y (

Question Number : 82 Question Id : 6154753519 Question Type : M Optid‘ﬁ Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |

Correct Marks : 2 Wrong Marks : 0 ,f \ |
Which of the following depicts the marriage scene of Parvati and Siva known as Vaivahik
Murt1 or Kalyvansundara?

(1) Brihadeswara Temple of Tanjore
(2) Lingaraja Temple of Bhubanezshwar
(3) Elephanta Relief

(4) Relief of Ellora
Options : { i
15475127251
1547513726 2
61547513727 2
61547513725 4

I

Question Number : 82 Question Id -: 6154753519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QuestiomOption : No JDption Orientation : Vertical

Correct Marks : 2 Wrong Marks

Fefatas § & el aEd o o % faar #1599, 199 Janfes g o Feam gat wa 9 2, F6 f=Ew
;-"':H RIR| é‘?
(1) T T FFI7A i

(2)  gEvaE = oo wfe
(3)  THAEA TEE

(4) TAN] &1 s
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Options :

615475137251
1547513726 2
E15475123727. 2
615475123728 4

Question Number : 83 Question Id : 6154753520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Krizhna and Balram have heen depicted on the coins of which Indo—Greek King.

(1) Antialkides (2) Pantaleon
(3) Agathocles (4) Stratol
Options : r g

615475137291
E1547513730. 2
E1547513731. 3
61547513732, 4

*
|

Question Number : 83 Question Id : 6154753520 Question Type :/ﬁd:Q (I)ptionr'ShuffIing : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical | .-'I

Correct Marks : 2 Wrong Marks : 0 ! l'. /

hd TE1-TTF T o TOF%1 W F0 311 Sy & T=ha T g v

(1)  ufueae=FEey 2) =T
(3) MU (4) HaAI
Options : r 3

6154751372591
61547513730, 2
61547513731, 3
E1547513732. 4

Question Number : 84 Question Id/: 6154753521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : Q
The so—called Indra Panel in Buddhist Vihara cave at Bhaja has been recently identified

with which Jataka Scene?

(1) Mahakapi Jataka (2) Chaddanta Jataka
(3) Matri Poshaka Jataka (4) Kulavaka Jataka
Options :

615475127331
61547513734 2
61547513735 2
£15475137=@mace WWW.examrace.com



Question Number : 84 Question Id : 6154753521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wre T =g FEE T § 9uiea T U9 T 2§ O S ovg ° mEE TR T B Y

(1)  HETHT HTF (2) TET ATF
(3) = T (4) Foars AaE
Options :

E1547513733. 1
B1547513734. 2
61547513735 3
61547513736, 4
i .

Question Number : 85 Question Id : 6154753522 Question Type : MCQ Option Shuffllng No Dlspl§y Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i o

r

Terracota life size images of goddess Ganga and Yamuna dating to Gupta Period have been

found from which site?

(1) Ujjain (2) Kausambi
(3) Ahichchhatra (4) Nalanda
Options : % & f

E1547513737. 1
E1547513738. 2
51547513739, 3
61547513740, 4

-

Question Number : 85 Questionid : 6154753522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T 1A H g4t 7 3 79 i v e i sten #e giaat e wae 0 ol £

(1) 3744 (2)  HieTE
(3) Al (4) AT
Options : ' F

515475137371
61547513738, 2
61547513739, 3
E1547513740. 4

Question Number : 86 Question Id : 6154753523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Udaigir cave near Vidisa bears an inscription that gives the name of which famous Gupta

ruler?

(1) Samudragupta (2y EKumaragupta I
(3) Chandragupta II (4) Skandagupta
Options :

E1547513741.1
61547513742 2
61547513743 3
61547513744, 4
f

Question Number : 86 Question Id : 6154753523 Question Type : MCQ Option Shuffling : No Dlsplay Quest Number : Yes
Single Line Question Option : No Option Orientation : Vertical '

Correct Marks : 2 Wrong Marks : 0 i r

fafesn & e SEA0H TR § 91 A9eid § 68 9iHg T e %1 99 291 70 27

(1) R2E A (2) FHETA 9uH
(3) =4 g (4) THETA
Options : f |

E154¥513741. 1
61547513742 2
61547513743 =2
61547513744 4
A L]
Ly
Question Number : 87 Question Id : 6154753524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 .

Which divinity 1s often depicted wearing boots?

(1) Vishnu (2) Surva
(3) Brahma (4) Shiva
Options : .r

E1547513745 1
61547513746 2
61547513747 2
615475137458 4
T
Question Number : 87 Question Id : 6154753524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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s 1

(1) ER| (2) 4TI
(3)  wEm (4) Tm
Options :

E1547513745. 1
E154751374E. 2
61547513747, 3

615475137458, 4
{

Question Number : 88 Question Id : 6154753525 Question Type : MCQ Option Shuffling : No Display Questjo'n Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 { F
Which rock—cut cave in Western Maharashtra bears the famous inscription of Gautamiputra

Satakarnm and Vasishtiputra Pulumawn?

(1) Bedsza cave (2) Kandane cave
(3 Nasik cave 3 (4) Bhaja cave
Options : [ l[ ;"-

61547513749, 1
1547512750 2
1547512751 2
1547512752 4
bz ®

Question Number : 88 Question Id : 6154753525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 .

Ifv=q AERT 5 TFE SeaEE T H TEEE S A i e F gty s 27

(1) <=8 TR (2) HIEH TH
(3)  FIER THE 3 (4) 4T T
Options : - !

6154751374591
61547513750, 2
E1547513751. 3
E1547513752. 4

Question Number : 89 Question Id : 6154753526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Khajuraho group of temples was built during the suprimacy of which rulers :
(1) Guptas (2) Chandelas

(3) Ehg(l&zn%%gés (4) Rashtrakutas

www.examrace.com



Options :

615475137531
615475123754 2
E15475123755 2
615475123756, 4

Question Number : 89 Question Id : 6154753526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR % HiE] S HE B S % AT % 2R R T

(1) T (2) =
(3) EIREE (4) TeFL
Options : { f

615475137531
61547513754, 2
61547513755 3

E1547513756. 4

/! |
F§ [

Question Number : 90 Question Id : 6154753527 Question Type ; "rMCQ OptIOI’] Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |

Correct Marks : 2 Wrong Marks : 0 j'
Where 1z the Ashokan pillar also bearing the mseriptions of Samudragupta and Mughal
emperor Jahangir located?

(1) Sarnath (2y  Allahabad
(3) Sanchi (4) Delln
Options :

615475137571
61547513758, 2
61547513759, 3
E1547513760. 4

a
Question Nurﬁber : 90 Question ICJ615'4753527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : Q

(3) == (4) o=t
Options :

E1547513757. 1
E1547513758. 2
51547513759, 3
61547513760, 4

Question Nu %]Gﬁ())uesnon Id : 6154753528 Question Type : MCQ Option Shuffling : No Display QW i r;Yes
Single Line Q tion : No Option Orientation : Vertical ﬁ}_SQM@e%o%



Correct Marks : 2 Wrong Marks : 0
Which of the following are related to the Lower Palaeolithic Period in Europe?
(a) Acheulian {(b) Magdalenian

{c) Mousterian (d) Micoguian

Choose the correct answer from the code given below:

(1) (a) and (b) (2) (a) and (c)
(3) {a) and (d) (4) (b)and (c)
Options :

61547513761, 1
E1547513762. 2
E1547513763. 3
61547513764, 4

Question Number : 91 Question Id : 6154753528 Question Type : MCQ Option Shuffling : No Dlspla¥ Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 s % { {
HHEMET § 8 % 3§ HE IO EE O 9T 2 7
(a)  FAFREA (b) WA
(c) S ETEA I (d) HEFIFA
FEAREd 72 § 9 T8 390 %1 994 HL -
(1)  (a) 3 (b) (2) (a) # (c)
(3)  (a) F () (4)  (b) I (©)
Options : "

615475137611
61547513762 2
E1547513763. 3
E1547513764. 4

|

Question Number : 92 Question Id': 6154753529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No fption Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the dating methods are known as Chronometric method of dating?

(a) Palaeomagnetic dating (b) Biostratigraphy

(c) Optically — Stimulated Luminescence (d) Fluorine — Uranium — Nitrogen analysis

Choose the correct answer from the code given below:

(1) (a) and (h) (2) f{(a)and (c)
(3) {b) and (c) (4} (c) and (d)
Options :

£1547513765. 1
£154751 = Banitace Wwww.examrace.com



E1547513767. 3
61547513768, 4

Question Number : 92 Question Id : 6154753529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Trefertiad | & Tt fafa Fafor giafa = o 2 fe ffatdio $1 sEmts (Fe F50) gbta w2 =
37

(a) I Grafes fafer Hamm (b) eI

(c)  EEE-IfE wdrasie (d) TIINE-FEN A fagemm

Fr 20 T %2 0 T T I A =9Ed -

(1)  (a) 310 (b) (2) (a) 3 (c)
(3) (b) 3T (c) (4) () 3W (d)
Options : &N g b (

515475137651
61547513766, 2
E1547513767. 3

E1547513768. 4

" ;
£

Question Number : 93 Question Id : 6154753530 Questlm Type MCQ Oqﬂon Shuﬁlmg No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 - .

Excavated Lower Palaeolithic sites of Rajasthan are:

(a) Samadhivala (b) Gangapur
(c) Didwana (d) Sing1 Talav

Choose the correct option:

(1) (a) and (b) (2)  (b)and (c)
(3 (¢) and (d) (4) (b)) and (d)
Options : o 'i

E154751376%9. 1
E1547513770. 2
E1547513771. 3
B1547513772. 4

Question Number : 93 Question Id : 6154753530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(@)  THEEET (b) TTE
()  T==amm (d) Toft 9=E

oF fawey =1 999 Fifau -

(1)  (a) 3R (b) (b) 3 (c)
(3) () ¥ (@) (4)  (b) 3T (d)

[®

Options : {
E1547513769. 1
E1547513770. 2
61547513771, 3
G1547513772. 4

i -
L
- o !
Question Number : 94 Question Id : 6154753531 Question Type : MCQ: Option Shuffling : l\lo Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical #

Correct Marks : 2 Wrong Marks : 0

Detailed tyvpological studies for the Middle Palaeolithic sites was done by P.C. Pant. These
sites include:

(a) Bataubir (b} Chainpura
{(c) Baithakwa {(d} Parsidhia

Choose the correct answer from code given below:

(1) (a) and (b) (2) (b)and(c)
(3) (c) and (d) (4) (a) and (c)
Options : ) 1

615475137731
61547513774 2
E1547513775. 3
B1547513776. 4

Question Number : 94 Question Id : 6154753531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questign Option : No Option Orientation : Vertical

Correct Marks : 2 \YlVrong Marks : 0
A

F
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e gy i werEt o i ge g R e gefeie were F e § i 2

(a) 23N (b) =TI
()  HZFAT @ idfien

TFE fTFT =1 999 Fau

(1) (a) 3T (b) (2) (b)) 3 (c)
(3) () 3T (d) (4)  (a) 37 ()
Options : 1 A

E1547513773. 1
B1547513774. 2
61547513775 3
G1547513776. 4

-

I"

Question Number : 95 Question Id : 6154753532 Question Type : MCQ Option Shuffﬂng I\P Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 .

In Potassium — Argon Dating which of the following minerals are used?

(a) Voleanie ash (b) Sandstone

(c) Basalt (d) Obsidian

Choosze the correct answer from the code given below:

(1) (a). (b) and (c) (2)  (a). (c) and (d)
(3) (b). (¢} and (d) (4) (a). (b)and (d)
Options : "

E1547513777. 1
E1547513778. 2
B1547513773. 3
61547513780, 4

|

Question Number : 95 Question Id": 6154753532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question.Option : No c(IDp'[ion Orientation : Vertical

Correct Marks : 2 Wrong Marks :
d

\
h

F
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FeEEE-3TH faf9 yone § FeafaiEd § @ =09 g 999 1 33 563 96 22

(a)  SAHEE T (b) ST
(c) FHT2 (d) ITeaEIE

et e =1 =339 Fifew

(1)  (a). (b) 3 () (2)  (a). (e 37 (d)
(3) (b). (e) 31T (d) (4) (a), (b) 3T (@)
Options : i

B1547513777. 1
61547513778, 2
615475137739 3
61547513780, 4

q ( °
Question Number : 96 Question Id : 6154753533 Question Type : MCQ' Option Shuffling : l\lo Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical -

Correct Marks : 2 Wrong Marks : 0

In Indian Archaeology. site catchment analvsis has been applied successfully at

(a) Inamgaon (b) Kuntasa

(c) Lothal (d) Balathal

Choose the correct answer from the code given below:

(1) {(a). (b) and (c) (2y  {(a). (b) and (d)
(3) (a). (c) and (d) (4) (b). (c) and (d)
Options : L {

E1547513781. 1
E1547513782. 2
61547513783, 3
61547513754, 4

Question Number : 96 Question | ] : 6154753533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 ‘I'{Vrong Marks : 0
v

F
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TR AT | T Fae AT 1 ThedTgE SA Fa A T 8

(a)  AETAE (b) FearHl
(c) D (dy =TT

Tzl fa%ed =1 999 Hhifau ;

(1) (a). (b) 3T (c) (2)  (a). (b) 3 (d)
(3) (a). (c) 3 (d) (4)  (b). (¢) 3N (d)
Options : 4

61547513781, 1
61547513782 2
E1547513783. 3
61547513754, 4

-

I"

§ -
Question Number : 97 Question Id : 6154753534 Question Type : MCQ Option Shuﬁd‘ng :No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical /

.
Correct Marks : 2 Wrong Marks : 0 /’

Microlithic tools have been reported from the lowest level of which of the following sites?

(a) Allahdino (by Hallur
(c) Amn (d) Tilwara

Choose the correct answer from the code given below:

(1) (a). (b) and (c) (£}  (a). (c) and (d)
(3) {a). (b) and (d) (4) (b). (c) and (d)
Options : \ {

E1547513785. 1
E1547513786. 2
B1547513787. 3

61547513788, 4
|

Single Line Question Option : No Option Orientation : Vertical

Question Number: 97 Question I?D: 6154753534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 2 K'Vrong Marks : 0

v

F
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AT P S FeAfcigd 8 9 56 w0 % 96y el #3919 2 27

{:a} He + T (b'-] %:'WEI_;\.
(c) AT (d) Taemam

Ot fFFa =1 999 Fifau

(1) (a). (b) 3 (e) (2)  (a). (c) 37T ()
(3)  (a). (b) W (4) (4) (b () 37 (d)
Options : %W 4

615475137851
E1547513786. 2
BE1547513787. 3
E1547513788. 4
. W ¥ (

Question Number : 98 Question Id : 6154753535 Question Type : M Optid‘ﬁ Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |

Correct Marks : 2 Wrong Marks : 0 ,"r \ /

Harappan cubical and truncated spherical weights have been made of

(a) (reothite (h) Basalt
(c) Sandstone (d) Lapis — Lazuh

Choose the correct answer from the code given below:

(1) {a). (b) and (c) (2) (a). (b) and (d)
(3) (a). (c) and (d) (4) (b). (c) and (d)
Options : |

E1547513789. 1
E1547513730. 2
515475137391, 3
61547513732 4

Question Number 198 Question ch 1 6154753535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questign Option : No Option Orientation : Vertical

Correct Marks : 2 ,:?ng Marks : 0

F
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I F TATHER 3 FZH T4 T N 91 A 91 2 7

(a) TS (b) ®HEE
(c) WA (d) AME-ATIAT

el fa%e9 =1 999 iy

(1) (a). (b) 31T (c) (2)  (a), (b) 3 (d)
(3) (a). (¢) 3 (d) (4) (D). (e) I (d)
Options : F

B1547513789. 1
61547513730 2
61547513731, 3
61547513732, 4

o
-

y {
Question Number : 99 Question Id : 6154753536 Question Type : MCQ. Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical / #

Correct Marks : 2 Wrong Marks : 0

Which two of the following mesolithic sites were excavated by B. Subharao.

{a) Gauri Gundam {(b) Hathkamba

{c) Sanganlkal (d) Amarpur

Choose the correct option:

(1) (c) and (d) (2)  (a) and (b)
{3) (b) and (c) (4) (a)and (d)
Options : \ {

515475137931
61547513734 2
61547513735 3
61547513736, 4

J

Question Number: 99 Question Id : 6154753536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 \'{Vrong Marks : 0

v

F
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1. geamTa gA1 FefafEd § & A asr T e s 6 gEE A T A

(a)  TIRFIEH (b) EIFE

(c) ATFA (d) HAEqE

Tt

TEl T =1 =599 Hita

(1) (e) 3 (@) (2)  (a) 3T (b)
(3) (b) & (c) (4)  (a) 37 (d)
Options : \

E15475137392. 1
E1547513734. 2
E1547513735. 3
B15475137396. 4

4 P
Question Number : 100 Question Id : 6154753537 Question Type : MCQ Opt|on Shuffling, : ‘\Io Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

|
Correct Marks : 2 Wrong Marks : 0

Which of the following two mesolithic sites are 1n the northern Vindhvas?

(a) Mahadaha (b) Morahana Pahar
(c) Lekhahia (d) EKuchai

Choosze the correct option

(1) (a) and (b) {(2) (b)) and (c)

(3) (c) and (d) (4) (a)and (c)

Options : gy -

615475137371
61547513738, 2
E1547513739%8. 3
E1547513800. 4

|

Question Number : 100 Question Id : 6154753537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No é)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :

eEEd 5 4 ®£H-H g1 AN A =0 3990 G am 1 g w7

(a) TEEH (b) HEE BIE
(c) ot (d) FAE

L

TE A =1 =99 fifau

(1) (a) FT (b) (2)  (b) 3T (c)
(3) (c)#N (@) (4) (a) 3T (¢)
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Options :

61547513797, 1
6154751237398 2
1547512799 2
61547512800 4

Question Number : 101 Question Id : 6154753538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which two of the following excavated Mesolithic sites are 1n Gujarat?

(a) Akhaj (b) Hirpura
(c) Pachad (d) Pachmarh

Choose the correct option :

(1) (a) and (d) (2) (c)and (d)
(3) (b) and (¢) (4) (a) and (b)
Options : Fs »

51547513801, 1
61547513802, 2
£1547513803. 3

E1547512804. 4
I

-

i 4
Question Number : 101 Question Id : 6154753538 QuestionType : MCQ )ption Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation.,'kv tical

Correct Marks : 2 Wrong Marks : 0 i N

HefAtgd § O FHE-51 BT A 39gEd w0 19 5 E 27

(a) EIER (b) F

(c) IS (d) "dHz

TE T =1 =99 Hifu

(1) (a) A (d) (2) () 3R (d)

(3) (b) T (c) (4) (a) 3 (b)
Options : I'l

51547513801, 1
61547513802, 2
£1547513803. 3
61547513804, 4

Question Number : 102 Question Id : 6154753539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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From which of the following Harappan sites hoards of jewellery have been reported?

(a) Allahdino (b} Farmana
{c) Mandi {d) Tarkhanwala Dera

Choose the correct answer from the code given below:

(1) (a) and (d) (2) (a) and ()
(3) (b) and (d) (4) (b) and (c)
Options :

51547513805, 1
61547513806, 2
61547513807, 3
61547513808, 4

Question Number : 102 Question Id : 6154753539 Question Type : MCQ Option Shuffling * No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ¢
s W \ "

Correct Marks : 2 Wrong Marks : 0

MAfetiad 8§ 5 22T w2l 8 ST F FEl 9 g0 8 7

(a) Heed 16Fi_l:|‘i (b) REHHI

fa

(c) argt (d) TEIHITAT =0

TE faFg =1 399 Fifaw -

(1)  (a) A (d) (2) (a) FAN (c)
(3)  (b) 3T (d) (4) (h) 3T (¢)
Options : L {

E1547513805. 1
E1547513806. 2
61547513807, 3
61547513808, 4

Question Number : 203 Question Id : 6154753540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 ‘iNrong Marks : 0

At which of the following Harappan sites large granaries have been found?
(a) Banawall (b) Harappa

(c) Mohenjodaro (d) Kalibangan

Choosze the correct answer from the code ziven below :

(1) {a) and (b) (2) (b) and (c)
(3) (¢) and (d) (4) (a)and (d)

Options : Examrace WWw.examrace.com



E1547513809. 1
61547513810, 2
51547513811, 2
61547513812 4

Question Number : 103 Question Id : 6154753540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ARG § 4 a3 25791 2= T 98 A0 99 74 £ 7
()  @HEE (by =TT
(c) | P e (dy  FTAET

oE fases =1 999 Fifau

(1) (a) 3 (b) (2)  (b) 3T (c)
(3) (c) 3T (d) (4) (a) 3 (d)
Options : f'r i |

51547513805, 1
61547513810, 2
61547513811, =
E1547513812. 4
4 (

Question Number : 104 Question Id : 6154753541 Qtjejion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation *Vertical

Correct Marks : 2 Wrong Marks : 0 !
Which of the following artefacts belong to the mature Harappan culture?

(a) Steatite Seal (b) Chert Blade
(c) Bricks of ratio 4:2:1 {d) Ghata Shaped Terracotta bead

Choose the correct answer from the code given below :

(1) {a). (b) and (c} (2) (b). (c) and (d)
(3) (a). (b) and (d) (4) (a). (c) and (d)
Options : |

515475138131
61547513814, 2
61547513815 =
E1547513816. 4

Question Number : 104 Question Id : 6154753541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frerferfiaa § & FH-d FemH s T Rk A 87

(a)  TEIEREZ gE (b) =7 w=ig
(€  4:2: 137 Hi & (d) T AEE F T S E T

TE a1 == Fifau

(1) (a). (b) 3T (e) (2)  (b). (c) 3 (d)
(3) (a). (b) 3T (d) (4)y (a). (c) 3T (d)
Options : 'ii

515475138131
61547513814, 2
61547513815 =
E1547513816. 4

r
-

i {
Question Number : 105 Question Id : 6154753542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical / ”

Correct Marks : 2 Wrong Marks : 0

Which of the following Harappan sites have yvielded evidence of fortifications?

(a) Sotka-Koh (b) Chanhudaro
(c) Desalpur (d) Allahdino

Choosze the correct answer from the code ziven bhelow :

(1) (a) and (b) (2) (b)and (c)
(3) (a) and (c) {(4) (ec)and (d)
Options : \ {

E1547513817. 1
E15475138158. 2
E15475138145. 3

B1547513820. 4
|

Question Number: 105 Question |d : 6154753542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 rVrong Marks : 0

v

F
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TroAfafias § & 57 207 Toel T i % o e gn 2 e

(a)  HIcHI-HIE (b) =EEH
(c) H;Jl_g"x |q_£ (dy o= Iz F,_E:Ih

O faFeg =1 =999 Fifau

(1) (a) I (b) (2) (b) FF (e)
(3) (a) I (c) (4)  (c) 3 (d)
Options : !

E1547513817. 1
E1547513818. 2
51547513819, 3
61547513820, 4

i -
- .'. {

Question Number : 106 Question Id : 6154753543 Question Type : MCQ Opt‘i‘pn Shuffling : ‘\lo Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

|
|
¥ i

Who among the folloiwng scholars have worked on the Indus seript?

(a) E.N. Mehta (b) Asko Parpola
(c) Suraj Bhan {d) I.Mahadevan

Choose the correct answer from the code given below :

(1) (a) and (c) (2)  (b)and (¢)
(3) (a) and (d) (4) (b) and (d)
Options : A \

61547513821, 1
61547513822 2
E1547513823. 3
E1547513824. 4

Question Number : 106 Question Id : 6154753543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 "(Vrong Marks : 0
A

F
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fyeafeafaa § & o fagri 3 fag fafa @ 27
(a)  FR.TA. TEA (b)  ATERT JEHTEAT

(c) oS 9 (d) 3. gEead

oF fawey =1 999 Fifau -

(1) (a) 3 (c) (2)  (b) #E (c)
(3) (a) FF (d) (4) (b)) ¥R (d)
Options : (o

61547513821, 1
E1547513822. 2
E1547513823. 3
51547513824, 4

F s

{
Question Number : 107 Question Id : 6154753544 Question Type : MCQ Optlon Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 |

Who among the following numismatists advanced the theory of indigenous origin of Indian
coing?

(a) A.S. Altekar (b) E.J. Rapson
(c) Durga Prasad (d) Edward Thomas

Choose the correct options :

(1) (a) and (b) (2) (b)and (d)
(3) {a) and. (¢) (4) (a)and (d)
Options : I

515475138251
61547513826, 2
E1547513827. 3
61547513828, 4

Question Number : 107 Question Id : 6154753544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30
b

F
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Trafafias ggenfedi § 4 fFe e ot + =0 sam & fogim = ady e

(a)  T.OH. IedH (b) 4. T9ma
(© T R (d) U=AE gim

TE a7 =1 999 a0 :

(1) (a) 3T (b) (2) (b) N (d)
(3)  (a) M (¢) (4) (a) 3 (d)
Options : i

E1547513825. 1
61547513826, 2
E1547513827. 3
61547513828, 4

{ -
Question Number : 108 Question Id : 6154753545 Question Type : MCQ Optlon Shuffling : ho Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

|

Correct Marks : 2 Wrong Marks : 0 I

Which two among the following inseriptions are Saivite?

(a) Karmadanda Inscription of the time of Kumargupta
(b) Beznagar Pillar Inscription

(c) Thiruvalangadu copper Plate Inscription

(d) Bhor State Museum Plate of Dharavarsa Dhruvasena

Choose the correct option :

(1) (a) and (b)
(2) (b) and (d)
(3) (a) and (c)

(4) (a) and (d)
Options : k|
15475158291
615475125200 2
61547513531 2
1547513532 4

Question Number : 108 Question Id : 6154753545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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HefaiEs 3 O :9-3 31 e 99 99EE 4 gEd 87
(a)  THAWTA % 99 = FES] AldE
(b)  EITH =Y AfTeE

e}

(¢)  TIFgeTIg dH Foi® AWerd

(d)  GEES e = U9E U0 GUEed e

T fawe =1 =999 e

(L) (a) 3R (b)
2y (b) AT (d)
(3) (a) 317 (c)
(4)  (a) # (d)

Options : ——
61547513829, 1

61547513820, 2
61547513821, 3
61547513832 4

oy

Question Number : 109 Question Id : 61$475§546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No- Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘4
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Which of the following works deal with the Eharosthi inscriptions and Kalchur inscrptions?

(a) Corpus Inscriptionam Indicarum Vol. I
(b) Corpus Inscriptionam Indicarum Vol. IT
(c) Corpus Inseriptionam Indicarum Vol. 111
(d) Corpus Inscriptionam Indicarum Vol IV
Codes:

(1 {a) and (d)
(2) (b) and (c)
(3) (b} and (d)

{4) {(a) and {(c)

Options : ! \ I
61547513833, 1

61547513834 2
61547513835 =2
E1547512856. 4
4 J
Question Number : 109 Question Id : 615475354& Que{stion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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HHfEiad § 9 SE-1 F9a sl P 37 wegi B O gEiad 27
(a)  FE EREEY ST 9 1
by 9T fery e 9 11

(c) F4 g 22 9 101

(d) FdT SR 2fehg g IV

(4)  {(a) I (c)

Options : bk ‘
61547513833, 1
61547513834 2
15475123835 2
15475128326 4

Question Number : 110 Questiond : 6154753547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks 40

Which among the following temples are known for erotic sculptures on the exterior wall?

(a) Sun Temple of Konark
(b} Brihadesvara Temple of Tanjore
{c) Kandariva Mahadeva Temple

(d) Siva Temple of Gangal Konda Cholapuram

Choose the correct option :

(1) (a) and (d) (2) (a) and (b)
(3) {(b) and (d) (4) (a)and (c)
Options :

£1547513837. 1
Examrace WWw.examrace.com



E1547513838. 2
51547513839, 3
51547513840, 4

Question Number : 110 Question Id : 6154753547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

f=tafaa § 4 =9-4 ofs= 9= far w =0 gisa 5 5o 93 =9 27
= i ol o 2

(a) TR W GF AT (b) TR 1 FEval Tl
() el HETEd Higt (d) TE T =g i At

o fameT =1 =99 Fifan

(1) (a) 3T (d) (2) (a) dF (b)
(3) (b) 31T (d) (4) (a) T ()

Options : ,ff = .

BE1547513837. 1
61547513838, 2
61547513839, 3
61547513840, 4

(

Question Number : 111 Question Id : 6154753548 ion Type MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orlentatlon rtlcal

Correct Marks : 2 Wrong Marks : 0
Who among the Kushana kings portrayed Nana. Oesho and Vasudeva on the reverse of his
comsa?
(a) Wema - Kadphises
(h) Huvisgka
(c) Vasudeva

(d) Kanishka

Options :
615475135841, 1

61547513842 2
61547513843, 3
E1547513844. 4

Question Number : 111 Question Id : 6154753548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B VAR S

FUTOT IR § ToREe foeent o o8 W W T, S SR arges W A guaEmEnt

(1)  Tou-Fefeam

(3)  9Hed
(4)  FfwR
Options : . N

51547513841, 1
61547513842 2
61547513842, 3
E1547513844. 4

4

-

o
Question Number : 112 Question Id : 6154753549 Question Type : MCQ Optlon Shufilmg “No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical (

¥

Correct Marks : 2 Wrong Marks : 0 F | >
Which are the two sites where mural paintings associated to Gupta Period have been found

(a) Sittanavasal (b) Ajanta
(c) Ellora (d) Bagh

Choosze the correct option :

(1) (a) and (d) (2) (b)and (d)
(3) {(b) and (c) (4) (a) and (c)
Options : > -

E1547513845. 1
E1547513846. 2
E1547513847. 3
51547513848, 4

[l j %
Question Number : 112 Question Id : 6154753549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : Q

Frafafae & & fm 41 Taeit WO F @ g3 ffa-f o E

-

(a) THAFTESA (b) el

ES

(c) Ued ] (dy +=mH

& faea =1 =999 Fifaw

(1)  (a) 3\ (@) (2)  (b) 3T (d)
(3) (b) HH (c) (4) (a) 3 (c)
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Options :

515475135845, 1
61547512846 2
E15475123847. 2
61547512848, 4

Question Number : 113 Question Id : 6154753550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Carved 1vory images of Indian stvle and origin have been found from which of the foreign
sites?

(a) Ter (h) Pompel
(c) Bhokerdan (d) Begram

Choosze the correct option :

(1) (a) and (c) (2) (b) and (d)
(3) (a) and (d) {(4) (d)and (c)
Options : ,-"' o

E1547513849. 1
61547513850, 2
E1547513851. 3
51547513852, 4

-

%

Question Number : 113 Question Id : 6154753550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatiorﬂgvi tical

Correct Marks : 2 Wrong Marks : 0 Vi
Hoafafaa O 4 fa fagsh wuell @ awd 9l 31 ga % Jel 5 7 grefl 2E 8 o6 gfagd aef =
27

R

(ay (by  TiCdY
{c) "4&'33’:4 (d) 7T

TEl fawea =1 =3 Fifau

(1) (a) 3T (c) (2)  (b) 3 (d)
(3) (a) T (d) (4)  (d) 37 (¢)
Options : ¥

E1547513845. 1
E1547513850. 2
51547513851, 3
61547513852, 4

Question Number : 114 Question Id : 6154753551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The middle face of the Maheshvara image in Elephanta cave 1s Maheshvara the two other
faces represented are identified with

(a) Achora (b) Tatpurush
{c) Ishana {(dy Vamadeva

Chooze the correct option :

(1) {a) and (c) (2y  (b)and (d)
{(3) {a) and (d) (4 (b) and (a)
Options : %

E1547513853. 1
51547513854, 2
51547513855, 3

61547513856, 4
i
-

Question Number : 114 Question Id : 6154753551 Question Type : MCQ Optlon Shuftlmg “No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical (

Correct Marks : 2 Wrong Marks : 0 F | -

UfeThel TE H HETR o O Aed W Heva W 2| 3 9 Oul i TEEH 5 E9 0 6 27

-,

(a) IR (c) ATF
(¢) =9 (d) @THd

g fawea =1 =99 Fifau

(1) (a) 3 (¢) 2)  (b) ¥ (d)
(3)  (a) 3N (d) (4) (b) 3 (a)
Options : |

61547513852, 1
E1547513854. 2
E1547513855. 3
51547513856, 4

Question Number 31115 Question Id : 6154753552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questl Option : No ,Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Topikl and Kudaikal tvpes of Megaliths are found in which of these states?

{a) Tamil Nadu {by Karnataka
(c) Andhra Pradesh (d) Kerala
Choose the correct option :

(1) {a) and (c) (2) (d)and (a)
(3) (brand (d) (4) (c)and (d) WWWw.examrace.com



Options :

61547513857, 1
615475123858 2
15475123859 2
61547512860, 4

Question Number : 115 Question Id : 6154753552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FAfeTRad O 9 T 741 1 g0 GuTid % 20wd 377 F2ehd T3 A 27
(a)  AHAZ (hy FUEF
(c) e 5 B (dy
(1) (a) 31T (¢) (2)  (d) 3 (a)
(3)  (b) FW (d) 4) () 3T (d)
. r I /
Options : ! \ !

E1547512857. 1
E1547513858. 2
BE15475138549. 3
61547513860 4
4
Question Number : 116 Question Id : 6154753553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the authors of the List I with their books of List IT and choose the correct answer from
the code given below :

List I List IT
(Authors) (Books)
(a) K.C.Chang (1)  Systematics in Prehistory
(h) D.L. Clark (1) Indus Age : The Beginnings
(cy R.C. Dunnell (11} Analvtical Archaeology
(d) G.L. Possehl (1v) Rethinking Archaeclogy

Codes:

(1) (a)-(1). (b)-(m1). (c)-(1v). (d)-(11)
(2) (a)-(1v), (b)-(111). (c)-(1). (d)-(11}
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
Options :

6154?5138@1. 1
Xamrace www.examrace.com



E1547513862. 2
61547513863, 3
51547513864, 4

Question Number : 116 Question Id : 6154753553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A1 % o E®l % AW F G-I § 72 7 i % 9m % @Y gifad Fian i od bwe w5 9
Tﬁ'hﬂl

Sl g1-11

(o) (=)
(a) .G = B e
(b) EIUA. FATH N g =
(¢) .. =9 i) it snther
(dy Siud. 9 G5 S s

e L

(1) (a)-(1). (b)-(111). (€)-(1v). {d)-(11)
(2) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(1nm)
(4) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
Options : -
1547513861, 1
6154751233862, 2
615475123862, o
61547513864, 4
4
Question Number : 117 Question ldy: 6154753554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No tion Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT and choose the correct answer from the code given below :

List I Last II
(a) Mindel (1)  Basal Pleistocene
(by Wurm (1) Lower Pleistocene
(c) Gum {111/ Middle Pleistocene
(d) Riss (1v) Upper Pleistocene

Codes:

(1) (a)-(1v). (b}-(11), (e)-(111). (d)-(1)
(2) (a)-(11), (b}-(1). (c)-(1v). (d)-(111)
(3) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(1v). (c)-(1). (d)-(112)

Options : £
615475138651
61547513866, 2
61547513867, 3
61547512868, 4

Question Number : 117 Question Id : 6154753554 Question Type : MCQ (%(on Sryﬁling - No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ==

Correct Marks : 2 Wrong Marks : 0 ¥ f

g=1-1 =1 Ge1-11 = o1 gofaa it A1 S 768 F52 T 92 Jhed #1599 090

g=I-1 qeI-11
(a) ToE= (1) ST qiaga I
(b) T i) F= wfggE
(c) 7= (1) TEF WA 0
@ f= (iv) I Uifdgad 40

'
Tia w
L

(1) (a)-(1v). (b}-(11). (e)-(111). (d)-(1)
(2) (a)-(11). (b}-(1). (c)-(1v). (d)-(111)
(3) (a)-(111). (b)-(av). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(1v). ()-(1). (d)-(111)

Options :

61547513865, 1
615475123866, 2
61547513867, 2

51547513868, 4
Examrace www.examrace.com



Question Number : 118 Question Id : 6154753555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT and choose the correct answer from the code given below:

List I Last II
(a) Taddakana halli (1) Manoranjan Ghosh
(b)  Utnur (1) K. Paddavyva
(¢) Kodekal (1) Nagraja Rao
(d) Adamegarh hills (iv) F.R. Allchin

Codes:

(1) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)
(2) (a)-(1), (b)-(i1). (e)-(ii). (d)-(iv)
(3) (a)-(1v). (b)-(111). (c)-(11}. (d)-(1)
(4) (a)-(11). (b)-(1). (e)-(av). (d)-(111)

Options : f i r'
1547513869, 1
1547513870 2
615475123871, 35
615475123872 4

<
Question Number : 118 Question Id : 615475355 I?ue‘btion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation': Vertical

Correct Marks : 2 Wrong Marks : 0

eI &1 G1-I1 = 19 GHicAd #hi 140 921 T8l [9%hed 1 999 140, ;

gfi-1 Tefi-11
(a) CZFAde (1) TS =96
(b) SAE () . T
(c) HISHe (iii) AT TE
(d) HAEHTE I YAl (iv) UE.37N. A

e :

(1) (a)-(111). (b)-(1v). (€)-(11). (d)-(1)
(2) (a)-(1). (b)-(11). (e}-(113). (d)-(1v)
(3) (a)-(1v). (b)-(111). (e)-(i1). (d)-(D)
(4) (a)-(11). (b)-(1), (e}-(1v). (d)-(111)

Options :
6154?5138@%&;%6 WWwWw.examrace.com



E1547513870. 2
61547513871, 3
B1547513872. 4

Question Number : 119 Question Id : 6154753556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I wath List IT and choose the correct answer from the code given below

List I List II
(a) Jwalapuram (11 S.U. Deranivagala
(b) Singi Talav (1) J. Armand
(c) Durkadi (m) C. Gaillard
(d) Fahien cave (tv) M.D. Petragha

Codes:

(1) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(2) (a)-(11). (b)-(v). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-{m1). (e)-(11}. (d)-(1)
(4) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)

Options : v .
615475135731

E1547513874. 2
BE1547513875. 3
B1547513876. 4

Question Number : 119 Question Id : 6154753556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiori Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
|
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-1 %1 G111 o 919 gHad Fifaw a91 o8 fed =1 =997 $ifau .

gHi-1 T=I-11
(a) SATEH (i)  UH.Y, SR
(b) Tofaeama (i) . e
(c) TTHA (iii) . TemE
(d) HITEIHE TH (iv) UH. g gifte

e :

(1) (a)-(11). (h)-(1). (e)}-(1v). (d)-(113)
(2) (a)-(111). (b)-(1v). ()-(1). (d)-(11)
(3) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options : /.f =

BE1547513873. 1
61547513874, 2
61547513875, 3
E1547513876. 4
"“u

Question Number : 120 Question Id : 6154753557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation *Vertical

Correct Marks : 2 Wrong Marks : 0 |

Match the sites of List — I with the archaeological evidences of List — II :

List I List IT
(a) Sutkagendor (1) Trading Port
(b) Lothal (11) Sign Board inscription
(c) Shortughai (111) Makran coast
(dy Dholavira (1v) Ploughed field

Choose the correct option from the code given below :

(1) (a)-(111), (b)-(1). (e)-(1v). (d)-(11)
(2) (a)-(1). (b)-(11}. (e}-(111). (d)-(1v)
(3) {a)-(11). (b)-(111). (c)-(1). (d)-(av)
(4) (a)-(1v). (h)-(111). (e)-(1}. (d)-(1)
Options :

61547513877, 1

61547513878, 2
E1547513879. 3

E15475]1 2888 ntace www.examrace.com



Question Number : 120 Question Id : 6154753557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-1 | 23 70 e &1 g0 | 20 T et @Edl o Wy gafad Fi

gi-T gei-1I
(a) YTFRETEN (1) T=TE
(b) T (i) HEAETE wfge
(c) HIgHE (iil) HHH HHg 92
(d) di=TER] (v) a1 B =

& faea 1 =999 Fifa

(1) (a)-(111). (b)-(1). (e)-(iv). (d)-(11)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) {a)-(11). (b)-(11). (e}-(1). (d)-(1v)
(4) (a)-(1v). (b)-(111). (g)-(11). (d)-(1)

Options : l f
B1547513577. 1

61547513875, 2
E1547513879. 3
51547513880, 4

L !

Question Number : 121 Question Id : 6154753558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i 5

Match the following caves of List — I with the sects of List — II to which thev are associated :

List I Last IT
{(a) Barabar (1) Buddhist
(b) Udaigwi. Odisha (11) Ajvika
(c) Ajanta caves (1) Vaizhnawvite
(d) Badami cave - 2 (1v) Jain

Codes:

(1) (a)-(1). (b)-(11}, (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(1v). (¢)-(1). (d)-(111)
(3) (a)-(1v). (b)-(111), (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(iv). ()-(1). (d)-(11)

Options :

£1547513881. 1
Examrace WWw.examrace.com



E1547513882. 2
61547513883, 3
51547513884, 4

Question Number : 121 Question Id : 6154753558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g1 # 5 3 sl = oI § foF ™ oeag gueEi % oy gafea it

(a) =T i) dig
(by  FEAM, SN i) ATEfEE
(c) A=A =i THT (i) A9E
(d) =TS TH-2 (iv) =

ol oo =1 =99 Hifau .

(1) (a)-(1). (b)-(11). (e)-(113). (d)-(1v)
(2) (a)-(11). (b)-v). (e)-(1). (d)-(111)
(3) (a)-(1v). (b)-(111), (e)-(11). (d)-(1)
(4) (a)-(111). (b)-(iv). (e)-(1). (d)-(11)

Options : by
61547513881, 1
615475123882 2
15475123882 2
61547512554, 4

oy

Question Number : 122 Question Id : 61$475' 559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No- Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the coin legend of List — I with names of the king given 1n List — II and choose the
correct answer from the code given below :

List I Last II
(a) Lichchavayah (1) Samudragupta
(b)  Sarvarajochheta (1) Kachgupta
() Srivikramah (111) Chandragupta I
(d) Vyaghraparakramah (1v) Chandragupta IT

Codes:

(1) (a)-(11). (h)-(1). (c)-(1v). (d)-(111)
(2) (a)-(1v). (b)-(1). {c)-(m). (d)-(11)
(3) (a)-(111). (b)-(a1). (c)-(1v). (d)-(1)
(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)

Examrace www.examrace.com



Options :

51547513885, 1
615475123886 2
1547513887, 2
61547512888, 4

Question Number : 122 Question Id : 6154753559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 1§ for T foE % S ® WL 6 P T e R An R wy mitem B @ wE e
=T FITAT

-1 Te-IT
{a) r{_wl._ =ehd 4 fl} HHAE_,.III
{b_] I ’x u“ E'Fh. fll} ':{'!a_d]zF
(c) difesa: (i) =27 990
{dj 2BV AR s fi-\'} T];,J\H‘I B :;;: B2

(1) (a)-(11). (b)-(1). (¢)-(1v). (d)-(111)
(2) (a)-(1v). (b)-(1). (¢)-(111). (d)-(11)
(3) (a)-(111). (b)-(11). (e)-(1v). {(d)-(2)
{4) (a)-(1v). (b)-(1). (e)-(11). (d)-{111)

Options :

61547513885 1

61547513886 2

61547513887, 3
E1547513888. 4

i

Question Numiber : 123 Question Id\: 6154753560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No tion Orientation : Vertical

Correct Marks : 2. Wrong Marks : O
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Match the items of List I with inseriptioins of List II.

Last I Last II
(a) Avrvavarta (1)  Eran Stone Pillar Inscription
{h) Dattadewv1 (1) Allahabad Pillar Inscription
(e) Visnupada and Visnudhvaja (111) Mehraul Iron Pillar Inscription
(d) Dazapuram (1v) Mandasore Inseriptioin of

Bandhuvarma

Chooze the correct option :

(1) (a)-(1). (b)-(11). (¢)-(111), (d)-(1v)
(2) (a)-(11). (b)-(1). (c)-(v). (d)-(111)
(3) (a)-(u11). (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(11). (b}-(1). (c)-(112). (d)-(1v)
Options :

61547513889, 1

61547513890, 2

E15475138391. 3

E15475138392. 4
'

Question Number : 123 Question Id : 6154753560 Question Type : MCQ OpI'Lor],Shrl';ffIing : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Veﬂca

Correct Marks : 2 Wrong Marks : 0

aﬁIﬁhmnﬂmmﬁH?mm#FMWﬁm

qi-1 THI-11
(a) #ATHE (1)  TI9T 9T TR A
(b) el (i) IATEER TR AR
(c) Tamue i famwpeas (i) TR wE ey Al
(d) FETH (iv) Sgaml =#1 950 Ao

o2 e =1 =99 Fifaw

(1) (a)-(1). (b)-(11). (e)-(m1). (d)-(av)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(1m1)
(3) (a)-(111). (b)-(av). (c)-(1). (d)-(11)
(4) (a)-(11). (b)-(1), (c)-(111). (d)-(1v)
Options :

61547513889, 1

61547513890, 2

£154¥513831. 5

E1547513852. 4
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Question Number : 124 Question Id : 6154753561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the temples of List — I with patron kings of List — II

Last1 List II
(a) Brihadesvara. Thanjavur (11  Rajasimha
(b} Shore temple. Mahabalipuram (11) Narasiha Deva
(¢) Virupaksha Temple. Pattadakal (111) Raja Raja Chola
(d} Sun Temple. Konark (iv) Vikramaditya II

Choose the correct option from the code given below:

(1) {a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2} (a)-(11). (b)-(). (c)-av). (d)-(11)
(3) (a)-(1v). (b)-(111). (e}-(11). (d)-(1)
(4) {a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options : ,{’ ”
561547513893, 1

615475138394, 2
£1547513835. 3

E1547513856. 4
Py

Question Number : 124 Question Id : 6154753561 Quest‘i(L)ﬁ*Type : MCQ C{:)tion Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation.iv4tical

Correct Marks : 2 Wrong Marks : 0 k. <

=1 § Tou v gfeii =1 gei-10 % 230 T 399 Tieqs Tl % | il e

gHi-1 TeT-11
(a) HEaTE, T (i) TR
(b) T4z 927 Ofe, HErEEEy (il) Tz =
(¢c) Tawae Oit, 9259 (i) =T =T
(d) HF HicT, ®T (iv) Towmfees 5=

Fr 5 2 & v famen 1 = Aifaw

(1) (a)-(111). (b)-(1v). (e}-(1). (d)-(11)
(2) (a)-(111), (b)-(1). (c)-(1v). (d)-(11)
(3) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options :
£15475135493 1

61547513594, 2
5154751 3588 anwace WWWw.examrace.com



E15475138396. 4

Question Number : 125 Question Id : 6154753562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the books of List I with authors of List IL:

List I List II
(a) Salabhanpnka in Art. Philosophy and (1) J. Rosenfield
Literature
(b) Salabhanjika — Woman and Tree in (11) Nihar Ranjan Rav
Art and Literature

(¢) Dynastic Art of the Kushanas (111) Udai Naravan Roy
(d) Maurvan and Post Maurvan Art (1v) Devangana Desal
Codes:

(1) (a)-(11). (b)-(111), (e)-(1). (d)-(1v)
(2) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(4) (a)-(1v). (b)-(111). (e)-(1), (d)-(11)

Options : T( F
61547513897, 1

51547513898, 2
51547513855, 3
E1547513300. 4

Question Number : 125 Question Id : 6154753562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 {

 —

Examrace www.examrace.com



T1-1 =1 Tl 1 g1 8 {59 T Sl F W gl i

-1 Fe1-11
(a) TIAGTTH 29 A, Haighl 1z foeEn (i) . Traadies

i

(b) TAGTTH - T U #1 37 AR UE =R (1) TR 9 1

(c) BHEAM=F 32 A 3 FAWH (iii) 359 TR 1H
(d) TEF UE R O AR (iv) ZarHl oamE
E T

(1) (a)-(11). (b)-(111). (e)}-(1), (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(1)
(3) (a)-(111), (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)

Options : _,r'{ |
E15475138597. 1

615475138388, 2
515475138545, 3

1547513900, 4
-% |

Question Number : 126 Question Id : 6154753563 Qu ion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientat?prlz rtical

Correct Marks : 2 Wrong Marks : 0 —

Arrange the primitive human tyvpes in descending order
(a) Australopithecus afarensis

{(b) Australopithecus robustus

(c) Pithecanthropus trintlensis

(d) Australopitchecus africanus

Choose the correct answer from the code given below :

(1) (a). (c). (b). (d)
(2) (c). (d). (b). (a)
(3) (a). (d). (b). (c)
{4) (b). (d). {a). (c)

Options :

£1547513501 1
Xamrace WWWw.examrace.com



E1547513902. 2
61547513903, 3
515475133904, 4

Question Number : 126 Question Id : 6154753563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

E P_'P,- - r'-a- ! -.\-}%['r-.npﬂﬁ?rr.%'r:rl_:

(a)  ARLEIGIRE RO

(b)  SEEANTFE Ty

[ e

(c) TaterheaTae 2

(d) AT S

[ & =
AT E I T e o = 2 N 7 1 L

(1) (a). (c). (b). (d)
(2) (c). (d). (b). (a)
(3) (a). (d). (b). {c)

(4) (b). (d). (a). (c)

Options :

561547513901, 1
61547513902 2
61547513303 2
E1547512904 4

Single Line Question Option : No tion' Orientation : Vertical

F o
Question Number : 127 Question% 6154753564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Examrace www.examrace.com



Arrange the following perieds of the Geological time zcale in ascending order

(a) Cretaceous
(h) Pre-cambrian
(c) Devonian

(d) Permian

Choose the correct answer from the code given below :

(1) (b). (d). (a). (¢)
(2) (a). (d). (e). (b)
{(3) (c). (b). (a). (d)

(4) {(d). (b). (c). (a)

Options : ’_,r _II
51547513905, 1
61547513906, 2
615475139307, 2

£1547513908. 4
g I

Question Number : 127 Question Id : 6154753564 'Q'u ion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientat?pr‘:: rtical

Correct Marks : 2 Wrong Marks : 0 -
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gredia g ooF 1 FofaiEd g9l =1 ariEl #0 § =g S

(a) ETari e

by  H-Ffm

(c) EGIEEE

(d)  dfHIE

TF TaFea =1 999 Firau

(1) (b). (d). (a). (c)
(2) (a). (d), {c). (b)
(3) (c). (h). (a). (d)

(4) (d). (b). (c). (a)

Options : i }
£1547513905 1

615475133906, 2
515475133907, 3
E15475133908. 4

Question Number : 128 Question Id : 6154753565 Question Type : MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option QOrientation : Vertical
Correct Marks : 2 Wrong Marks : 0 { '_

Arrange the tenure of Archaeological work of following in chronological order

(a) Colonel Todd (b) Alexander Cunningham
{(c) D. Lal (d) Mortimer wheeler

Choosze the correct answer from the code given below :

(1) (a). (b). (c). (d) (2) (b). (a). (d). (¢)
(3) (d). (e). (b). (a) (4) (c). (d). (a), (b)
Options : "B

E154751390%3. 1
61547513910, 2
61547513911, 3
E154751391%2. 4

Question Number : 128 Question Id : 6154753565 Question Type : MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Yes

Yes
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ETANEd 1 395 TAl=F FE 1 Fad % A0 T FTAFaTan Saied i :

(a) A 2 (b) U=t FHHEY
(@  EE (d) HPm =

oE @ =1 =997 Firau .

(1) {a). (b). (c). (d) (2) (b). (a). (d). (¢)
(3) (d). (e). (b). (a) (4) (c). (d). (a). (b)
Options : = A

51547513905, 1
61547513910, 2
61547513911, =
E1547513912. 4

-

I"

Question Number : 129 Question Id : 6154753566 Question Type : MCQ Option Shuﬂ"_ling g ‘\Io Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ;

Correct Marks : 2 Wrong Marks : 0 ”

Arrange the following archeological sites in chronological order

(a) Visadi
(b) Sambhar
{c) Yeleswaram

(d) Rupar

Choosze the correct answer from the code given below :

(1) (a). (b). (). (d) {2y (d). (c). (b). (a)
(3) (b). (a) (c). (d) (4) (a). (b). (d). (¢)
Options : ]

615475139131
61547513914, 2
E1547513915 3
E1547513916. 4

Question Number ;1129 Question Id : 6154753566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questic;(n Option : No ‘Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F
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HEARad TET=% =61 H FIwaEaT said 6o

(a) o
(c) e

(1) (a}). (h). (). (d)
(3) (b). (a). (c). (d)

Options :

6154751349131
61547512914, 2
61547512915,
61547513916 4

Question Number : 130 Question Id : 6154753567 Question Type : MCQ Option Shuﬂ‘llng

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order :

(a) Ghat — Shaped terracotta bead
(b) Sguat gray dish-on-stand
{(c) Sprinkler

(d) Bull — Shaped Bottle

Choose the correct option from the following :

(1) (b). (d). (a). (¢)
(2) (d). (). (b). (a)
(3) (c). (a). (b). (d)

(4) (a). (b). (d). (c)
Options : -
61547513917, 1
61547513918 2
61547513919, 2
615475123920 4

(b)
(d)

(2)
{4)

T

LK

(d). (e). (b). (a)
(a). (b). (d). (c)

&

-

r

{\lo Display Question Number : Yes

Question Number : 130 Question Id : 6154753567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Examrace
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HETAREd F1 FAFAET A Hiag
(a)  HERA TEl HEl & BE

(b) B TAEE T Fm-a7-22

(c) ek

(d) ERRIEAD F "

(1) (b). (d). (a). {c)
(2) (d). (e). (b). (a)
(3) (c). (a). (b), (d)

(4) (a). (b). (d). (c)

Options : /
51547513917, 1
E1547513918. 2
61547512919,
61547513920 4

oy

Question Number : 131 Question Id : 6#34758568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optio Orierftation : Vertical

Correct Marks : 2 Wrong Marks : 9

/ “, \

 —
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Arrange the following sites in chronological order :

(a) Kileghul Mohammad
(b) Mirzapur
(c) Rangamahal

(d) Chak - 56

Choose the correct option from the following :

(1) (a). (b). (d). (c)
(2) {(b). (d). (). (a)
(3 (d). (c). (a). (b)

(4) (c). (a). (b). (d)

Options : i \ I
61547513921 1

E1547513922 2
61547513922, 3
E1547513924. 4

- |
Question Number : 131 Question Id : 615475356% Que!’stlon Type : MCQ ‘Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientationi: Vertical
Correct Marks : 2 Wrong Marks : 0
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Ffafiga Tu=l Fi F=AEd § TEfEe -

(a) Ex ] Oizms

™

(b)  THEH

{c) T Heo

(d)  TF-86

Hoeigd § 9 981 a5ed 51 =99 Fhiftan

(1) (a). (b). (d). (¢)
(2) (b). (d). (c). (a)
(3) (d). (c). (a). (b)

(4) (e). (a). (h). (d)

Options : '{ .
6154751349211

E1547513922. 2
E1547513923. 3
51547513924, 4

Question Number : 132 Question Id : 6154753569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiori Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 (

 —
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Arrange the following inscriptions in chronological order :

(a) Radhanpore copper plate inseription

(b} Bhor state muszeum plates of Dharavarsha Dhruvasen
(c) Tiruvalanagadu copper plate inscription

(d) Sanjan copper plate inscription

Choose the correct option from the following :

(1) (b). {a). (c). (d)
(2) (a). (d). (b). (c)
{(3) (b). (a). (d). (c)

(4) (d). (e). (b). (a)

Options : / ,II
61547513925, 1
615475123926 2
E1547513927. 2

E1547513925. 4
~ % |

Question Number : 132 Question Id : 6154753569 ah ion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatﬁ)ru: Vertical

Correct Marks : 2 Wrong Marks : 0 -—
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(a)  TEETL 90 Bl Aled
(b)  GWEN gFHA F 97 T AURAT FeAF
(¢)  Tasaai Mg 9 Fors HlWeld

(d) O 9" FAF Ag

MEfefad O 9 T2 aseT &1 999 &+ -

(1) (b). (a). (e). (d)
(2) (a). (d). (b). (c)
(3) (b). (a). (d). (c)
(4) (d). (e). (b). (a)

Options : '{
615475139251

61547513926, 2
E1547513927. 3
E1547513928. 4

Question Number : 133 Question Id : 6154753570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiori Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 (

Examrace www.examrace.com



Arrange the following inscriptions in chronological order :

(a) Rock Edict ITI (Girnar version)
(b) Lumbini Edict
(c) Rock Edict XIII (Shahbazagarhi)

{d) Pillar Edict IV Delhi-Topra {West face)

Choose the correct option from the following :

(1) (a). (b). (c). (d)
(2) (b). (a). (d). (c)
(3) (c). (b). (a). (d)

(4) (d). (a). (c). (b)

Options : ,IJ 1|_ j"
61547513929, 1
61547513930 2
61547513931, 2

1547512952 4
ny .

Question Number : 133 Question Id : 61547535_7_3 é)uestion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T P

(a)  T9eA <@ III (FRAT o)

(b) Wl ATeTg
(c)  Tore =@ XIII (smeanarel)

(d) =Y AT IV fBeefl 2 (32 5)

g § 3 98 @59 =1 =999 + -

(1) (a). (b). (c). (d)
(2) (b). (a). (d). (c)
(3) (c). (h). (a). (d)

(4) {d). (a). (c). (b

Options : i s
515475139291
51547513930. 2
51547513931, 3
51547513932 4

oy

Question Number : 134 Question Id : 61%475 571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange the following parts of an Orissan temple vertically from base to pinnacle :

{a) Chhapra
{b) Kalazha
{c) Pista

{d) Bada

Choose the correct option from following :

(1) (c). (d). (a). (b)
{2) (b). (a). (d). (¢c)
{(3) (a). (b). (c). (d)

(4) (d). (b). (). (a)

Options : f -I. ,J'[
615475139331
£1547513924 2
61547513925 5
61547512936, 4
-
( 4
Question Number : 134 Question Id : 6154753521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Examrace www.examrace.com



321 % Oiet & Hefafad 9 #1 dJaad J9n 4 s # a9n fod -

(a) B3
(b) EEEl
(c) =
(d) EES

fefefiga § O o8 faseq =1 994 =+ -

(1) (c). (d). (a). (b)
(2) (b). (a). {(d). {c)
(3) (a). (b). (e). (d)
(4) (d). (b). (c). (a)

Options : : -
6154751349531
615475123924, 2
615475123935,
61547513936 4

-y -

Question Number : 135 Question Id : 6 4753572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘4

/ “’ \

 —
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Arranege the following Chandela temples according to stages of development of their Sikharas

(a) Parshwanatha

(h) Bishwanatha

(c) Adinatha

(d) Kandariva Mahadev

Choose the correct option from the following :

(1) (c). (b). (a). (d)
(2) {a). (d). (b). (¢)
(3) (b). (c). (d). (a)
(4) (a). (c). (d). (b)
Options : / i

61547513957, 1
E15475139358. 2
E1547513929. 3
51547513940, 4
=% ]

Question Number : 135 Question Id : 615475357 ajqé!tion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientationi: Vertical

Correct Marks : 2 Wrong Marks : 0 e
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FTefiad Hae Higl &1 39 RaT % [Thea =00 % 3380 o -
(a) BIFEEID]
(by  Tawaag
(c) AT

(d)y  HEF Heed

HEfaRgd § O 987 [TO%e9 #1999 L -

(1) (ci. (b). (a). (d)
(2) (a). (d). (b). (c)
(3) (b). (c). (d). (a)
(4) (a). (c). (d). (b)

Options : f F
615475134937 1
E1547512938. 2
61547513929 2
61547513940 4

Question Number : 136 Question Id : 6154753573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Opti0|{ Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

/ “, \

 —
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Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R) Read the statements and choose the correct answer using the code given below:

Assertion (A4):  Indian Cleavers are indicating their use in a heavy duty task

Eeaszon (R) : Hallam Movius suggested that cleavers were wood working tools
Choose the correct answer using the code given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not the correct explanationi of (A)
(3) (A) 1s true. but (R) 1s falze

(4) (A) 1s false. but (R) 18 true

Options : f"r i
E1E4751=941 . 1

1547513942 2

61547513943 2

51547513944 4

Y (
Question Number : 136 Question Id : 6154753573 QUejion Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation *Viertical
Correct Marks : 2 Wrong Marks : 0 A

J= 21 wYA 758 T § A 0 TR A4 (A) 2 91 300 9% (R) 2 A F TR o A= T T E2

o TF 30 #9594 H

AFIT (A) — AW Fellad ST HET 1§ 395 T4 1 Thd od 2]

@ (R) - & HiggH 4 g o1 7wt FE S 30 4|
Frel o8 T 2 0 Y Pl I A 9w
(1) (&) 3 (R) THT T 2 3R (R) (A) T Tl =0 2

(2)  (A) 3R (R) ZHI TE & T4 (R) (A) 1 T8 =awe 941 2

(3) (A) T& g T (R) Ted @
(4) (A)7oW ¢ g (R) TR

Options : Examrace www.examrace.com



E1547513941. 1
61547513942 2
51547513943, 3
E1547513944. 4

Question Number : 137 Question Id : 6154753574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reaszon (R) Read the statements and choose the correct answer using the code given below:

Assertion (A): A community of scientists. has been searching for a clearer understanding

of human diversity and the evolutionary history of our species

Reason (R) : Archaeoclogy and biological anthropology are prominent elements of
palaeoanthropological research which 13 being helped by geologists.

oenetlcists. soclologists. ethnographers. paleontologists and physicist.
Choose the correct answer using the code given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 12 not correct explanation of (4)
(3) {A) 1= true. but (R) 1s false
(4) (A) 13 false. but (R) 1s true

Options :

51547513945, 1
E1547513946 2
61547512947, 5

1547513945 4
&

Single Line Question Option : No tion Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0|

Question Number : 137 Question(l‘% 6154753574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

 —
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(1) (A) @1 (R) ZHI 781 2 AR (R) (A) 1 F&l =30 2
(2)  (A) R (R)EH TF 2 F (R) (A) F T = 99 2
(3) (AW 2 g R)TEA B

@4 (A TR ® TR

Options : I j
£1547513545 1

E154751394E. 2
E1547513947. 3

51547513948, 4
T A

Question Number : 138 Question Id : 6154753575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 { ”

Examrace www.examrace.com



Given below are two statements. one 1s labelled as Assertion (A) and the other labelled as

Reason (R). Read the statemens and choose the correct answer using the code given below:

Assertion (A) : As one moves from the west to the east the OCP settlements tend to be

more transient on an average

Reaszon (R) : There was a serious mismatch between the changes in natural conditions

and the capacity of the people to harness them normally
In the light of the above two statementz choose the correct option among the following :

(1) Both (A) and (R) are correct but (R) 1= not the correct explanation of (4)
(2) Both (A) and (R) are correct and (R) 1s the correct explanation of (4)

(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options : f{ "L J.l’
515475139439 1
61547513950, 2
61547513951, 2
61547513952 4
V.

Question Number : 138 Question Id : 615475357& buestion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2) (A IR (R)IHT TE 2 AR (R) (A) I a2 = 2

(3)  (A) T 2 g (R) Teld 2

(4) (A)TAd B g R)TE

Options : l }

615475139491
61547513950, 2
61547513951, 3
E1547513952. 4

Question Number : 139 Question Id : 6154753576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 F -
Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below:

Assertion (A) : Theriomorphic Garuda remained the device of one class of silver coins of

West India down to the times of Skandagupta.

Reason (R) : It was insended to proclaim the religious faith of the imperial Guptas who

had replaced the Western Kshatrapas.
Choose the correct answer using the code given below :

(1) (A) 18 correct (R) 1s wrong
(2) (A) and (R) both are correct
(3) (A) and (R) both are wrong

(4) Explanation (R) to (A) 18 correct
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Options :

61547513953, 1
61547513954 2
£1547513955 =2
61547512956, 4

Question Number : 139 Question Id : 6154753576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jr Z1 FeH 160 T 2| TR ANTEEH (A) 2 3R 300 9% (R) 2| w1 F1 9E AN AW 9 ™ 52 4 wE

Esticaf-peice

AFI (A) - TEET TS UTEHl 9Rd § TR F R @ 9] % UF 9 % fdewl 0 fTang w
A T == @

TF (R) - THF AT FETIAR] Tl 1 diiHs a1 %1 91i8d F00 o7 f92e afv=dl a7 =

giqeenad f=an =)

22 ™ 52 § 4 9d 70 = =7 Fif
(1) (A)Td 2 Fg (R) Tod 2

(2) (A) W (R) TFT 971 2

(3)  (A) 3T (R) SH TeAq E

4)  (R). (A) I T = 2

Options : -
61547513953, 1
61547512954, 2
61547513955 2
61547513956 4

p -
i 1

Question Number : 140 Question I!: 6154753577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Qption Orientation : Vertical

Correct Marks : 2 ‘Wrong Marks : Cr

\
\

F
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Giveb below are two statements — one 12 labelled as Aszertion (A) and the other 1z labelled as

Reason (R). Read the statements and choose the correct answer using the code given below:

Asszertion (A) : Nearly all the rock-cut architectures at Mahabalipuram have remained

rather incomplete,

Reason (R) : The patronage towards the shrine ended with the death of Narasimha
Mamalla and his sucessor Rajasimha started a new architectural

movement.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (A)

(3) (A) 1s true. but (R) 1s false
(4) (A) 15 false but (R) 12 true
Options : "l r

51547513957, 1
61547513958, 2
61547513959, 3
E1547513960. 4

Question Number : 140 Question Id : 6454753577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optior{ Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 {
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(2) (A #AR R)=A FE E S0 (R)(A) FomE =wen w5
(3) (AT 2 g (R) 7w 2

(4 (A TEE g (R FF
Options : / i .J'[
154751239571
E154751=2958. 2
615475134959 2
61547513960 4

S

|

Sub-Section Number: 2
Sub-Section It;: 5 615475159
Question Shuffling Allowed : Yes

Question Id : 6154753578 Que‘sl;"pn Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145) "'rj' -1
Cesticn Label | Comprehiension

Read the following passage and answer guestions which follow :

The Mesolithic sites are much larger in number than those of the Paleolithic and are better
preserved. This 1= because by the end of the Pleistocene the land surface of the country.
particularly in mver basins., had assumed its present shape and there have been no
significant disturbances 1n 1t by natural agencies like climate changes. Conzequently the
archaeclogical sites have not been disturbed by natural factors. During the Mesolithic period
natural caves and rock shelters were occupied.

Sub questions

Question Number : 141 Question Id : 6154753579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Markg=y 3 Wgeg9 Marks : 0 WWW.examrace.com



Mesolithic culture belongs to

(1) Pleistocene period (2) Early Holocene period
(3) Late Holocene period (4} Pliocene period
Options :

61547513961, 1
61547513962, 2
E1547513963. 3
E1547513964. 4

[

Question Number : 142 Question Id : 6154753580 Question Type : MCQ Option Shuffling : No Display QUéstion Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 . {I ‘s

Rock paintings are found 1in / on

(1) Open air Habitation deposits (2) Caves
(3) Pottery (4) Bone objects
Options : f’ - |

61547513965, 1
61547513966, 2
E1547513967. 3
E1547513968. 4

A (

Question Number : 143 Question Id : 6154753581 Q{Jeiion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatlgn “Vertical
|

Correct Marks : 2 Wrong Marks : 0
MMesolithic sites are transitional between

(1) Neolhithic and Chalecolithie (2) Chaleolithic and early Iron Age
(3) Upper Paleolithic and Neolithic (4} Upper Paleolithic and early Iron Age
Options : i iy

E154751396%5. 1
E1547513970. 2
B1547513971. 3
61547513972 4

\

Question Number : 144 Question Id : 6154753582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Oprtion : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mesolithic sites are

(1) Smaller than Harappan =ites (2) Larger than Upper Paleolithic sites
(3) Larger than Ahar culture sites (4) Larger than early historical sites
Options :

6154751 3<E@myace www.examrace.com



E1547513974. 2
51547513975 3
51547513976, 4

Question Number : 145 Question Id : 6154753583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the human burials at Saral Nahar Rai the skull 1s placed 1n

(1) North direction (2) South direction
(3) East direction (4) West direction
Options : | f’ 1

61547513977, 1
E1547513978. 2
E1547513979. 3
51547513980, 4
i

r
Question Id : 6154753578 Question Type : COMPREHENSION Su)féuestion Shuffling Allowed : Yes Group Comprehension
Questions : No / |
| I

Question Numbers : (141 to 145) i \ i
Juestion Label - Comprehension

TS T TR0 SN I AT A U % 36 i

TETITATOrS F2 QOTIOE EAl ° S0 A § 2 SN "Edt @ § GUed 2, #ih Wi e 6 S

aF &4 F1 Y-Har 4, HHE T4 GieA §, 9 990 AR o o 9 3R 9 S99y Tiane ol

' . o e & r o [ B el Wt . o b
‘;FET%I‘—F- G | ot e T ) O = b e 1 = | EAT| TRMHETET QAlcad® T WThid+ 92H 9 19952 T2 241

Bl e A e TR 1 0 o ) e L 1 e o e o et B e

Sub questions 1 (

Question Number : 141 Questi'or'ﬁd : 6154753579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No (Brption Orientation : Vertical

Correct Marks: 2 Wrong Marks : 04 |

WIS T5Fid 1 H6d 2 -

(1)  Wifdgad = 4 (2) UETE I FA Y
(3)  WEdl 9w T (4) AT F1 @
Options :

51547513961, 1
B1547513962. 2
61547513963, 3
61547513964, 4

Question Number : 142 Question Id : 6154753580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QpgstigiyQption : No Option Orientation : Vertical WWW.examrace.com



Correct Marks : 2 Wrong Marks : 0

31 = i e A 27

@) R 2) T H
<) Rl T (4) = GOl W
Options :

61547513965, 1
E154751396E6. 2
E1547513967. 3

51547513968, 4
L

Question Number : 143 Question Id : 6154753581 Question Type : MCQ Option Shuffling : No Display Ques‘ffon Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 | '
e T i w0 T " TEUEe 6 2
(1) TEITET0 A7 STEETET (2) W'ﬂﬁﬂﬁ%?’ﬁ??ﬂ
(8) I T T TF9TEm (4) 3= T 3R gRfiEE S g

Options : '{
615475135969 1

E1547513970. 2
E1547513971. 3
B1547513972. 4

Question Number : 144 Question Id : 6154753582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i
T P 749 2
(1) =20 A ¥ § g (2)  S=d T I A T 8 e
(3)  TETS WOR * Ul U gEe (4) Wl Ufaafas el 8 g
Options : \

E15475138973. 1
E1547513974. 2
51547513975 3
51547513976, 4

Question Number : 145 Question Id : 6154753583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3 Ty iy e
Options :

E1547513977. 1
E1547513978. 2
515475139759, 3
61547513980, 4

{ r
Sub-Section Number: 3 -
Sub-Section Id: 615475160 {
Question Shuffling Allowed Yes » f

.4 \

Question Id : 6154753584 Question Type : COMPREHENSION Sub/(ﬁestionﬁShufﬂing Allowed : Yes Group Comprehension

Questions : No |
|

Question Numbers : (146 to 150) i | |
Juestion Label @ Comprehension

Read the following passage and answer guestions which follow:

Relative dating fixes a timeframe in relation to other strata and material. It 1z well known
that stratigraphy 1s involved in manv dating methods. The earth sediments had accumulated
in lavers known as strata. Age increases with the depth of undisturbed strata. Under relative
dating there are three main analvtical methods of bone dating. These are fluorine dating.
nitrogen dating and uranium dating. These methods are useful in dating only when deposits
are stratified and areas are undisturbed. The fluorine absorbed by the bones fossilizing in the

same ground for the same length of time will be the same as that of local ground water.

Sub questions” .’ \

Question Number : 146 Question Id : 6154753585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question.Option : No fption Orientation : Vertical
Correct Marks : 2 Wrong Marks :

Which of the following 1s related to the relative dating?

(1) Biostratigraphy
(2) Potassium — Argon Date

{(3) C14 date

(4) Cosmic date

Options :
5154?5139@%m]race WWww.examrace.com



E1547513982. 2
61547513983, 3
51547513984, 4

Question Number : 147 Question Id : 6154753586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The relative age of fossil bone 13 determined by

(1) Its composition of chemicals

(2) Comparing with other fossil bone of the same area

(3) Comparing its chemical compositions with other fossil bone

(4) Comparing its chemical composition with other possible bones of known age from the

salne areas.

Options : 1, A
51547513985, 1
61547513986, 2
61547513987, 2
15475123988 4

¥

Question Number : 148 Question Id : 6154753587 Question Type : MCQ tion Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical R

Correct Marks : 2 Wrong Marks : 0 ¥

Which of the following laver denotes the older period?

(1) Laver 2
(2) Laver —1
(3} Layver—=5

(4) Laver — 10

Options : ’f
1547512959 1
1547512990 2
1547513991 2

E1547513992. 4
\

¢
Question Number : 149 _Question Id : 6154753588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Relative dating methods are useful in dating the finds found 1n

(1) Undisturbed area

(2) Disturbed area

(3) Secondary gravel depo=it
(4) Unstratified deposit

Options :
561547513993, 1
61547513994 2
61547513995 =2
1547513996 4
{ r

Question Number : 150 Question Id : 6154753589 Question Type : MCQ Option Shuffling : N Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical 3

Correct Marks : 2 Wrong Marks : 0 p -

I"

The fluorine absorbed by the bone depends on

(1) So1l composition

(2) River water

(3) Rainy water

(4) Ground water seepage through the bones
Options : b .

E1547513997. 1
51547513998, 2
51547513955, 3
61547514000, 4

Question Id : 6154753584 Qué'sl;'bn Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150) .I' \
Cuestion Label : Comprehension

Ay fafaFarT 3= W 3R ol & g9y § % gnEEy Avad #0898 Gafaed § 6 S o
fafsr Fator gt § gug 21 9-9ma #35 w10 4 2 2 58 = o w0 oo 2 s, sEntu w1 oF
TEUE WY "gdl 7| WA Wiy Faiw F dea sty Fune | 96 9eg heeeness wEtaE g
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Sub questions
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Question Number : 146 Question Id : 6154753585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HAfAigd 1 9 #3 gy faafain @ gafaq 27

(1) <3 T (FErL T
(2)  HEEEE AEH Y
(3) C14 {3

(4) =it

Options :

61547513981, 1
E1547513982. 2
615475123982,

B1547513984. 4
{

Question Number : 147 Question Id : 6154753586 Question Type : Q Option Shuffling:: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |
|

Correct Marks : 2 Wrong Marks : 0 i i
SEwy A 5 OHiaE AT [l 26 2

(1) =0 THEAT o TETEE W

(2)  HOH % I Ay A6 H g =4 9

(3)  THF THEHF TAEA] Fl A4 FEEY AT % TEEEE T § ToE w6 1
(4) 9% THEEF TAEA F 3 &F I T4 37T F A e A ged w1 9

Options : |
51547513985, 1
61547513986 2
615475123987, 2
6154751239588, 4

Question Number :1148 Question ‘d 16154753587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 rﬂgng Marks : 0

F
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(1) -2

(2) t-1

(3) dl-2

(4) 1-10
Options :

E154751395%9. 1
E15475139380. 2
E15475139391. 3
B1547513992. 4

4

Question Number : 149 Question Id : 6154753588 Question Type : MCQ Option Shdfﬂing »No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical {

Correct Marks : 2 Wrong Marks : 0 Ve i {
T Tty sfatal Fafataa 3 9w a9 F W@ Feim § 33 § -

(1) AU T

(2) I &3

(3)  Ted 9« =1 SHE
(4)  ITIFd A

Options :

61547513993, 1
61547512994 2
61547513995 2

51547513956, 4
|

Question Number+ 150 Question Id : 6154753589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Pption Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT g g T 9 w1 2
(1)  HEl 9=H1 W
(2) TTER
(3)  AW-F W

(4)  AfeE 9 9-99 foa W
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Options :

61547513997, 1
15475123998 2
£1547513999 =2
61547514000, 4
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